bl e g 1 ST
Number: 3197 | SSC PART-I (10" Class)
M.?;'IR'HEOUI;}I:A}TICS (SCIENCE GROUP)  PAPER-II vt r Vv-24 Gyt JAV) P
TIME ALLOWED: 20 Minutes @ 20 = Dy
MAXIMUM MARKS: 15 OBJECTIVES 15 =4S
ki Ll s A ifi\ A S 3 Jbe Lizernelund ez Ly ,f.gqr;j-zﬂng&__:n AMCBAME N LIrs | 1 Ay
You have four choices for each objective type question as A, B, Cand D. ¥rsdibiizns. L SLS Skl S QNo.1
The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker ’
or pen to fill the bubbles. Cutting or filling two or more bubbles will resuit in zero mark in that question,
R . C B A QUESTIONS /=ity Sr.No.
If @, [ are the roots of 1
1 4 7 .. 7% ~x~4=0 then @ff is:
7 4 7 LI —x—4=0eils B @ /i
sl af ?u.nu) wr
If 2 _l_, then 2
Pk Y=z a1 ¥ =kx yeEg
xs s < 33 “Pn g2 m;’.}.ﬁ
. The fourth proportional of 15, 6, 5 3
6 2 "z 3 5 is:
t _:;.h..-'b;l.;gl' 15 65
: £+l s 4
A constant term An identity . An improper A proper fraction | (x-1)(x+2)
Fnf= wlyy Ty, Traston St 4 2+l
8 R T A Ey) T (x=1) (x+2)
{4} {¢.{a}} {a} | i],";ﬁ\ﬁer set of an empty set is: 5
i A f'\fa\f e
(ANBUAUB) | (AUBNMUNCY | (ANBUNB) (AUﬁ;f}WEj AUBNC)= g2 AU(BNC) 6
Constant Grouped data Histogram Unlgrobiped data | A data in form of frequency
J I ¢ s ¢ %\Q\, ar ) d distribution is called:
) ot LLEE B8
180° 150° 3 115° 3% pad = edagfys 3= |8
AN @ Line segment joining any point of 9
Perimeter Radial segmev ‘Diamefer Circumference | the circle to the centre is called:
el AR ",H e _4.rufuhi_u;" ﬁyc;-.h"ﬁdr el
A line which has only one point in 10
tangent of circle | secant of circle cosine of circle sine of circle common with a circle is called:
Tangentfe /i secant¥e./ix cosingyes sine¥e_Ji o B LS e L KoL
2
The length of chord and radial 11
segment of circle are congruent the
15° 45° 30° 60° central angle made by the chord
will be:
e il aa SO U P e H L
Kot ali s Byt
The length of the diameter of a 12
circle is how many times the radius
4 3 2 1 of the circle?
b"zﬁJIJJLL.}UJE,JJﬁL‘_}b_ﬁ
'u"'.i'_,J_n'
The number of methods to solve a 13
4 3 2 1 quadratic equation is:
-LE&—)LL-/J{:—-IJPL;AUH
{ ] } 1 1 1 The solution set of 25x* ~1=0 is: 14
e I 1 i
% 5 5 5 e f¥255% =1=0
Product of cube roots of unity is: 15
3 -1 1 0 e AL A i L
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ATEL B B BAEIATRAE R & B it ‘UM‘U‘-’! Tl N N ’ - Sk AN AR Tl N ol A A If’-""e{ (vjf P J u-kJ
TIME ALLOWED: 2,10 Hours 210 = S
MAXIMUM MARKS: 60 SUBJECTIVE 4812 60 = F;U"
NOTE: Write same question number and its parts number on answer book, as given in the question paper. -{-&wtﬁf{#fx‘huﬁ'ﬂidﬂhﬂlm&f
SECTION-I1 o
2. | Attempt any six parts. 12=2x6 i feyrlimgedS | 240y
(i) | Define radical equation. Ep g @

_ (i1) | Convert 3x* —6x = x+20 into two linear equations. ES LU Gl 3x* —6x=x+20 (i1)
(iii) | Solve by factorization. 2x* —5x-3=0 2x? = 5x~3=0-gE A s | (D)
(iv) | When a polynomial is divided by x+1 we have el x 1 SE L | (V)

uotient x’ —x” and remainder 15. Find th o i g b
goiynomial. ! e 'ﬁé-(’l"t?’/-f-’mwl"” bt x” = x*
(v) | Find the discriminant 4x* —7x-2=0 4x* ~Tx-2=0-grtas3p | )
(vi) | Prove that x* + y* = (x+ ) (x+@y) (x+@*y) X 4y = (x4 P) (x+oy) (x+0ty) Sk (vi)
(vii) | How joint variation is formed? Py (_{ g (vii)
(viii) | Find the value of p ,if the ratios 2p+5:3p+4 3141:‘:2P+513P+4f§-£-‘(!""~"~‘.'£{.? (viii)
and 3:4 are equal. ey
(iX) | Find a mean proportional between 9p°q*, r°® 9p%g*, gLt i3y (ix)
_3. Attempt any six parts. 12=2x6 g a—éﬁi"'imaz’f"‘;’r 32U
(i) | Define a partial fraction. N 2/ | @
‘e Gt
(iD) 3 4550 S i5xi—6 | @)
Convert the fraction ng:fi_ 16 into proper fracn%é \q%d'_a’ LS %
(i) | 1f y=2*,7=0", then find ¥ T oA Ly T Inr=2* T=0" S| (D)
(V) | If guqs, 2,3, 4,53 B={2,4,5,6 S}thcn ﬁugéﬁ\ﬁ JuB={2,4,5,68} a=(2345/ | )
ey l'\. P \ } i é’r,l’; A T B
(v-} Define one-one function, '\N\\) e v S S ses (V.)
(vi) | Find @ and b if (2a+5,3)=(7, b~4) (2a+5 3)=(7, b-4) figp b wa | ()
(vii) | Define a frequency distribution. ¥ o /JJV,J i (vii)
(viii) | Find arithmetic mean for the data. N ‘1{1” b oKty (viii)
12,14, 11,20, 24,39, 33, % 12, 14, 17, 20, 24, 29, 35, 45
(ix)} | On 5term tests in mathematics, a student has SR i P Il Lur 2oL L L (ix)
made marks 82, 93, 86, 92 and 70 ing = 1 et i 1a
paedln for e papilie. G s 1900 92 86 <93 82
4. Attempt any six parts. 12=2 x6 _é,,j..-,y.eélm;:_éf 4y
(i) | Define arms and vertex of an angle. Ev Sl | @
() | Find @, when £=4.5m, r=2.5m. ot r=25mul=45m pgp0 | (D
(iii) tanx tan x | @)
S! - " o
implify secx sec x £~
(iv) | Express 6.1 radians into degree. quﬂwbgg};/ﬁ,; Lk (iv)
(v) | Detine chord of the circle. o /;J; WEosil O
(vi) | Define tangent line. S s | )
(vii) | Define circum-angle. I S | (VD)
(viii) | Define the ascribed circle. LIw sl (viii)
(ix) | The length of the side of a regular pentagon is S I 1-g (5 JUL@J’LU}(‘”& (ix) |
| 5cm. What is its perimeter? . ' ' "

P.T.O
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SECTION-II (.
NOTE: | Attempt any three questions but i F el 2l feld| wod
question No.9 is compulsory. 24=8x3
g9 Arcf
5.(A) | Solve the equation. 2x* —11x*+5=10 1t +5 = 0-ZE S Senle | ()-S5
(B) Ifa,ﬂ are the roots of the equation unJ::£¢x2+5x+6=0wﬂbbﬁﬁiaﬁ (i)
2
4x? —5x+6=0 then find the value of ——+£— -é-r:""-':jJE""“ﬂ—* 7
p - I
6.(A) |Find x in the proportion g x o x-3 5 _x=1 4 | ()6
=3 § .1 % 2 x-1 3 " x+4
2 "x-17 3 x+4 Ered
(B) | Resolve into partial fraction. .2 3 L J—"’, Sus ez ()
(x+2) (x*+4) (x+%)/¢x\+4)
K(D\ &
| RN |
7(A) | IfU={1,23 45678910}, wgfﬁ;‘*’ U=(1,234,56,780910}/ | (07
~1
A=(1,3,5,7,9},B={2,3,5,7) thenugx@;b\f - #7B={2,3,5,7} 4={1,3,5,7,9)
(ANBY = AUB’ &@m’ (ANBY =A'UB 4/
)
(B) | Find standard deviation. (_\.(-é;‘?.xf' ST fhe | ()
12,6,7,3,15.10,18,5 57 12,6,7,3, 15, 10, 18,5
8.(A) | Find the values of ; & d Jude F et sl )i,.xﬁ'd:f;
function at the indicated angle L ' - £ ()-8
@ in the right triangle.
(B) | Inscribe a circle in an equilateral triangle AL B e b 4 ¥ ABC 21l sl
' AABC with each side of length Scm. i ¢ o pls
s QUS| (D)
9. Prove that perpendicular from the centre et S St e pLe S gt 9
of a circle on a chord bisect it.
OR )
The measure of a central angle of a minor J;w@ugM;,f,gdffm,j;_‘:,uélur}lﬁa__}mfr
arc of a circle is double that of the angle
_cl_t‘.rflfﬂa.é_;lj.u“ r':r/:-(

subtended by the corresponding major arc.

|
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Faper Code &LV |1 =iy
Number: 3198 SSC PART-II (10" Class)
MATHEMATICS (SCIENCE GROUP) P g
PAPER-II GROI{JP-II l yugsd | l-ed l Geled v
TIME ALLOWED: 20 Minutes e 20 = &
MAXIMUM MARKS: 15 OBJECTIVEY y» » 15 = A4S
Usitmikie £ -5 Aol /A fus 3 b Literne i ez Lir f4d¥2-8 &0 MCBAARE Ly s | 1 Ay
You have four choices for each objective type question as A, B, Cand D. -¥ il i p e S S LS ML T QNo.l
The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cuiting or filling two or more bubbles will result in zero mark in that question.
D C B A QUESTIONS /=it Sr.No.
u= kv’ v’ =k w® =1 u=v If u e v?,then: I
SGuwxvi A
1 2
If yoc-; and y=8, when x=4 then value
40 36 34 32 i
Anedlkinx=4_2y=8 u:ycc%,rr
Inequation Fraction Identity Equation (x+3)" =x* +6x+9 is a/an: 3T
sk = el =il e Li(x+3)? . N
The different number of ways to describe a 4
4 3 2 1 set are:
s .q_.!!.;ﬂdl}ﬁ)._ﬂ? Lo Setdor
’ If X={a,b,c q\‘\'ﬂ':é@ﬁumbcr of elements 5
16 14 12 10 in X x Xard0)Y
e e
P38 %’\;é}q%mzx x XiX={a,bc}/
Triangle Square Rectangle | Closed figure .ﬁ%&qﬁﬁﬁcy polygon is a many sided: 6
Ll Cr e SN E:,»\“‘/ e duskdten F6S
sin @ 1 1, sinéé{’('_@ﬂ' secOcotf=__ - 7
cos@ cosé sind A\ é\\" -¢szsect cotf
L A o SQ)\’ o The symbol for a triangle is denoted by: 8
‘ % S et ot
Centre Chord Diameter | Radius A circle has only one: 9
}'(f 71 A % i 7 LF..-_GJ}'(L..?’:..Q
A 4cm long chord subtends a central angle of 10
60° . The radial segment of this circle is:
T “a s ol K e bt K 60° 4 S sa2s s dura L
M
Parallel Overlapping Equal Unequal The lengths of two transverse tangents to a 11
S w5 T Az pair of circles are:
ATV T A g Fan
4 {+4} {+2} +2 The solution set of equation 4x* —16 =0 12
is: curS¥4x’ 16 =0 =hin
{1, 4} {1, -4} {1, —4} {-1, 4} The solution set of equation 13
x?=3x-4=0 is:
_cl,...:.;-J'r x*=3x-4=0zn
If @, f are the roots of: 3x”* +5x-2=0 14
= 2 _2 3 then a+fi=__
3 3 ? F 3x2+5x~2=0.:.maum_f".uﬂ-a)’r
a+Bh=___
Real ‘mf [rr:tiona]l Imaginary Realand | The nature of roots of 3x” + 7x—13=0 are: 15
unequa and equa > 5 equal s f 3 2
i@ | e ;w. &4 j.rj“ e ISPl 3%+ Tx—13= 0l

32(0bj)(Tr T I)-2024(1-A)-55000 (MULTAN)




A | ' e ey, Lo i i TR Ty
RMTHEMAT[CS (SCIENCE GROUP) PAPER-II GROUP-II L1 J | 924, (.rgfu-"(,- ) F
| TAME ALLOWED: 2.10 Hours . o 210 = =
MAXIMUM MARKS: 60 ! SUBJECTIVE 8. 60 = A)
M'ITF Write same question number and its parts mumber on answer book, as given in the question paper. wdwfn&»}:s}%ﬂz»ﬂ
[ SECTION-I o
!F 2. Attemipt any six parts. i 12=2x6 | _M.:.ptf_'w“df 240
" | Solve by factorization, x* —1lx =152 X} ~1lx =152 gL SF s ®
:"ri) Define reciprocal equation. ' Ly P el S (i1)
(iii) | Wrile the quadratic equation in standard form, 244 ,_z+ 4=0- P e
EHS x=2. . =2 x
) x-2 ¥ =0 y
(iv) | Find the discriminant of quadratic equation. 26 + 3%+ 7=0 &£ ok V=) AR (iv)
2x7 +3x+7=0 i
(V) | Evaluate o +2® -5 o' v ~5g5pni | V)
(vi) | Write quadratic equation having roots. -1, -7 -1, =7 oG Ponkipie (vi)
(vii) | Define inverse variation. Ll g g | (i)
j”ill l*iind- x in the proportion. Lin! % % ?:; - % 3.r7u1 :% -2? e Erredfx Lot (L
(ix) | Find a mean proportional between 9p°¢*, »* 9p°q*, ¥ e | (X)
Attempt any six parts. 12=2x6 -MWF‘L‘Z'*("-JI 320
() | Whatis an improper fraction? te S | @
(i) | __3x+3 A . B thenfind 4 and B. MAT n (3-‘(“"‘4 -4, 8B A (i)
(x=1)(x+2) x4 x4+2 { T:jf,x+2] =1 x+2
O "
. AQ =iy B
(1) I X=(1,4,7,9}and ¥=(2,4,5,09]} then find 1’%?{\93'\-{1 4,7,9}4Y=(2,4,5,9) /i| (i)
el f”m('j:] -ﬁf—.—rﬂ"YﬂX?n
(v) | If L={a, b,c Yand M ={3, 4} then find :w%y MxLin M=(3,4) mL={a,b,c} /i| G¥)
u relation of Mx L. {_\\’(Qf P uiEn Ll
() | Find X and ¥ if Xx¥={(q, aws‘-,- f,{b a); (d, a)} Sgemymx |
. . _ o) Xx¥=i(a.a)(ba)(c.a)@a) |
il} Define Bijective funu/:,[_\\‘ \E L ErEAe0 | (vi)
! (vii) | Define standard deviation, \ Xy /JJ'._,;; | Al (vii)
' (viil) | Find range 12, 6, 7, 3, 15, 10, 18, § 12, 6. 7, 3y 15, 10, 18, 5 _efphron | (Vi)
(x) | Find arithmetic mean. 14800, 11500, 12400, 15000, 14500~ bosigits | (%)
o 14800, 11500, 12400, 15000, 14500 L
4. Attempt any six parts. —|_12 =2 x6 _M"p‘m‘{‘df a2
(i) | Define coterminal angles. | o Sumu s @
i_r'i'ﬂ Convert -225° into radians, -t /-2250 | (i)
| (it1) | Find the distance traveled by a eyclist movingon | 4 ¢ ww KISk Aol Loy fn| (i)
| ' |acircle of radius 15m, if he makes 3.5 ' N 3
| .| revolutions. o Y- e i |
1-1".:' Prove that Eir-1—!?:"'1“5;‘;1:1+taz1|‘3' s+ r;"{’Sﬂ=l+laJ'1-‘.? SZE=p @)
| COos cosd
i () | Define acute anglc. -g',f - /’J,..:Uuh (v)
| (vi) | What is meant by non-collincar points? e Ve bz F | (VD)
“(vii) | Define a cyclic quadrilateral, Ei g | G
! (vill) | Define a triangle. oyt (viii)
Eﬁ(l—x] Perimeter of a regular octagon is 24 cm. ) S{F ;L*‘Jl_.lu’tf" L a2 _,,L,gd}" P (ix)
i Find length of its side. o
- BTN
S — Product of cube roots of unity is: 15
, E | 0 e PSS L

30(Obj) (TR ¥X)-2024(1%-A)-60000 (MULTAN)
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SECTION-II .2 -
NOTE: | Attempt any three questions but . Zifayrlay rfedd | <)
i 9i 3 24=8x3
question No.9 is compulsory 4=8x 209 o e
5.(A) | Solve the equation £ (x=D{(x+2)(x +8)(x+5)=19 =i | (5
(x=D(x+2)(x+8)(x+5)=19 Ly
(B) | Find 4, if the roots of the equation U (Roots) S L x* —hx#10 =0 2nl- i G
x’-hx+10=0 differ by 3. éfﬂ"ﬂjt}’h;ﬂ&/rz‘
S | |
|
6.(A) | Find the value of **2» , x+22 if .. Y2 using | 2x 2 U1 = S, | (U6
-2y x-2z y+z
4yz 2 2:
the theorem of componendo-dividendo. =5 x"“z ’ril"‘y"‘“"!:iz'; :+22
@) Resolve into partial fractions ——————— T woy SIS 2 S huge !
: (x+1)(x" +1) (A+1)§x D
"’?\_J‘
:""'- .1._ \ '
f!; 3 ’\E&.-\‘C - _l
7.(A) | 1fU={1,2,3,4,56,78 09,10}, X fﬁﬁvu:{l' 2.3,4,56,7,8910).0 | (.7
\_ .
4={1,3,5,7,9)}) ,.B={2,3.5 7} then\rc oo 7 nB={2,3,57} « 4={1,3,5,7,9}
' 0
(AUBY = A'N B Q‘\“’j (AUB) = ANB SZ£3.7 |
'.’“"- {:" '
1’ s i
{B) | Find standard deviation. if\“““” i <t /r;y I A1 e €.
9,3 8 8,9, 8,9, ISQ*.V .i;;‘ S 9, 3.8 89 8, 09, 18
;‘;
8.(A) Fmdtti;e ;ait)w of tntghontﬂmel;:cl ra:m a;_ g o uwuuhnmumz; 8 13 (=3, 4) 5]
int (— is on the terminal sides o
e . ol e | -gE SEE (s
(B) | Circumscribe a circle about a tfiangle ABC with | 36.78 Lot £t B SLhendts 6 K AABC
ides |AB|=6¢cm, |BC|=3¢m, |[CA|=4cin - - o
sides ‘ B| m ]BC| 3em i | "f’"" : sl 3 6 AAVEG CA ”
9. Prove that perpendicular from the centre of a G S e r L S :f -
circle on a chord bisects it. > ¥ il 9
| g
OR 1
Prove that any two angles in the same ‘uﬁghbf:.;bﬁbﬁ_giﬁé_,Uu:tf‘_-_,'b‘
segment of a circle are equal.
Y g B raafy

32-2024(1%-A)-55000 (MULTAN)



Paper Code 2023 (17-A) AU
Number: 3195  SSC PART-II (10" Class) .
MATHEMATICS (SCIENCE GROUP) GROUP-I it/ G/ D P
TIME ALLOWED: 20 Minutes ~ ~ 7A/— [ —2.8 s 20 = by
VIAXIMUM MARKS: 15 OBJECTIVE (5*1 15 =45

e I3 Lprae e et L aqlfiyn -l aiDaCB A ayp bl Ldirn —bd

..g{f,.‘.d’.'f';!pmrwwfgj _lefiJgﬁ;/r;JfJMﬂJLf;.{fuﬁu _f.n'.!r';hlhf#ﬂufi ..,l':.-.u-JL.f;f.brL.L.f.{, Sl ekl
Jote: You have four choices fof each objective type question as A, B, Cand D. The chojos which you think is correct,

31l that bubble in front of that question number, on bubble sh 730 marker or pen to fill the bubbles, Cutting or
illing two or more bubbles willresult i zcro mark in that questior. No credit wil be awarded in case BUBBLES are

1ot filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

2Ne.1 LA
T o+ , 2 +1

m G-pG+D is a: S e (e 3} {1].
(A) An identity wf17 (B) A constant term N o
() An imprope;fractlnﬁ it (D) A proper fraction -1

2 Therangsof R={(L3)%(22)(3.1)(44)} i R={(1,3%(22), (3D (44N @

-¢-0n (Range) R i

Ay L 2.4} @) 13,2, 4} © (1,34} @) {1,234}
(3) The number of elements in a pgwer set {1,2,3} is: _q..gm,,:brwm,gqﬂh;{h 2.3} 3)
(A) (B) 4 < 2 D) 1

6
(4) A histogram is a set of adjacent; gt Sy )

(A) Squares fu#y  (8) Rectingles WA () Triangles ru{?;} (D) Circles  ¥usit 5
(5)

(5) Mean js affected by change in: _ .:9@ )r j.‘.",L i bl
(A Value 4 (8) Ratlo =+’ (c) (Orighy w/8 @ Place F ;
W NS
(6) If tanf = A3, then § is equalfo: s \r_,], ?9- __intanf = J3 A (6)
(A 90° ®) 45 AN ® 60° .
(7N The symbol for a trianglp is denoted by: (1,!-%;,;-‘@; gL Lifan )

B Loy @ L o ©

A A R© _
e cirdent! ¥ fomuing ®

(8) ' Atangentline intmentslth Ry
A ]

(A) Single point ¥ l{f‘;:';.{“ﬁi Twa points LhE (¢) Three points 4»5;4 (p) Four points th:hk
9) The length of & chord an the radial segment of a circle are m,;},;.z‘u-_:.».iwﬁ'.a'lfu".-.wl}.f‘..p-,,g (9)

congruent, the central angle made by the ?hord will be: T e
(A) 30° (B) 45° () 60° D) 75° i
(10) A line intersecting & circle is called: .¢.Iru{'ur T e ts {
(A) Tange;nt v (B) Secant dup (¢) Chord 7 (D) Radius J/ "
l 2 (1
(11)  Two lihear factors of x? = 15x + 56 are: | .4_5:)9,,';»..9,& x? = 15x + 56
(A) (x=7) hnd (x +8) (B (x+7)and (X- 8)
€ (x-7)end (x-8) @) (x+7)and (x+8)
oy - . (12)
(12)  'if o, B arethe roots of ¢t +5x72=0, p"uLBx’ +5x=23=0sif cf.fr
then a + B Is: ; P as:+ﬂ FUn
) =5
(A) % B 7 © 3 ®» 3
: ' (13)
(13)  Product of cube roots of unity is: ,ﬁ_}, g}d‘;r.:fr,ka_‘,dri
(A) 1 i (B ~1 3 a4
(14) Inarato a:b, @ i!l;ualled: ” .q-t'lk(d;ﬁa' h-s-r':
(A) Anﬁac&dem f;ﬂ" (m) Consequent rﬁd,m (c) Relation af‘ (p) Proportion ,_,E.
- LAY A x (19

(15)  The third propprtional of x” and y? is:

2 1’4 y::
(A) %— ® T © =7 ) £y
3b(scaiENCE GROUP)Ob)( 4 ¥ ¥7)-2023(1%-A)«65000 (MULTAN)



2023 (1*-A)

SSC PART-II (10" Class)
MATHEMATICS (SCIENCE GROUP) GROUP-I

M IN /=223
SUBJECTIVE 1.2

TIME ALLOWED: 2.10 Hours
MAXIMUM MAIﬁKS: 60

NOTE: Write same question number and its

& 2,10

A

H[‘-v.'d; (TJ;U:“LF )U}i’f

= &y

60 = A4S

- b:,gwu-f.eébu}mn A Jur(ﬂ:,;qr‘}m.:.;.;

parts number on answer book, as given in the question paper.

SECTION-I (o
2. Attempt any six parts. 12=2X6 g f e lnige 24y
(i) | Define quadratic equation. l ' B A lavdan]| B |
| Write in the standard form. ' X 1 : .
G | T 6 X6 i | @D
Lx+l o x i
(iii) | Solve by factorization. x*-x-20=0 rex-20=0 ESUFA5]| (iit)
(iv) ! Find the discriminant. §’-3x+3=0 X -3r+3=0 -gerusty)| )
(V) | Evaluate (1- o+ 0?)° l-o+o0 )ﬂﬁr:*"w’ S §
(vi) | Without solving, find the sum and the A{fﬂ‘ Ol ol ALy | V)
product of the roots. x?~5x +3=0 | ,- \'x'_{* e B D I
“(vii) | Find the value of p, if the ratic ﬂ%%p 0% ip+ 4Nl p (vii)
2p+35: 3p:+ 4 and 3:4 ave equal ! f:«»}) ot 31 !
(viii) | If y varies inversely as x and y = 7 when \ w Z - - y=7 g F _.“,,yf {vul] |
x=2,find y when x =126 " JF\
i <0) W - k=126 .ﬁéfﬁ"‘ M
(ix) | Find a fourth pmportioga! to \ N axt. 203, 1820 i g (ix)
4x , 2x°, 18x* :;
'\'J
3. Attempt any six parts. ()~ 12=2 X6 i F ez linige i ,;u;,
(i) | Define identity. ; G fatv | ®
) | |
T 1 Write in the partial fractions form o] x-11 l Gd ]
GiD) e IR Tt ey A |
(x—4)(x+ 3) | J
{ii1) | Define a bijective fd:}giion. o S PSP, i
RS ; | L
V) (I X={,479}and ¥ ={2,4.59} I Y={2,459)}sX={, 47910 @V
‘thcnﬂnanY S XAY |
™ | U={,23,___ 10} and Br13,58) 4 U=1{123 1014, ™
1 B={3235,8) thenfind B | LBy ‘L
— = BT
(vi) | If A={a b} and B={c.d}, ARRFB‘:{C.J}JJFA:{a.b}fh (vi) |
then find 4 x B L ;
| : e | |
1 = | ) )
(vii) | Define class limits. | S e (yit)
(vill} [ Define Arithmetic mean, YT i
: 4:- = - _ | i fi
(ix) | Find Geometric mean of 2, <, 8 ! 204, 8 s AP o |




(2) MTIN ~/~23
4, Attempt any six parts. 12=2X6 iz limgedSard )y |
() |Find '7' when 8 =180° and # = 4.9¢m | 6 =180°, r =49cm gkl (1)
(i) | Verify the identify 5159‘*;—;—"—55 =1+ tand | il-“l%g;jﬁf =1+ tand LSetel | G
(i) | Defige radian measure ;? an angle. j lF S bid | (D)
(iv) | Express 60° into radian. i -Ergse00 | (V)
(V) | Define Right angle. | : T S | )
(vi) | Define tangent to a circle, | LSSl | (VD)
[lvii} Define Segment ofa Ciré!e. _ ; _,5'_&,};&},}_#3 (vii)
(viii) | Define regular pol!fvgon -y St 2L, | (D
(ix) | The length of the side of a regular pentagon S Bt eSO oA 2 (ix)
is Sem. What is its perimerer?.

§EQ TION-II (222 l

24=8X3 809 AU s ezl ativf el 2o
NOTE: _Attempt any three questions, Question No.9 is com ulsory.
1 54A) | Solve the equation. 2x + 5= /7x + 16 EPeble2x + 5= [Tx+ 16 | (LS
i (B) | Find the value of & , if sum of the roots of C 2%k x?-3x :_Qﬂ.._iﬁ ik e ad Tk | (O
.‘ the equation 2k x* - 3z + 4k = 0 is twice : bﬁss’u)U‘bLJuLw.u"ﬂfu
: the product of the roots. : I
t 6.(A) | Using theorem qf com :end;—iiv‘{idcndo. L om 42«:’;:;\3 x!.ﬂ + :-ap ol S I e | _‘,J)_ﬁ
J Find the value of 2. : Sp < r{?}, Csn - wi - Sp
' m=on m - N = |
; L ]Dn p _,’p{]’:\\/ -ff M= ‘_UEE" ﬂ;{/?'li”w‘?-fk;
i Cif m o= il _ f:"_:' n+p |
; e ~\ OV i
(B) Resolve into partial fmu.tmn. ?\?\J" g ' i
! , )T_kv, Az | )
2 .flﬁlﬁ“’ (x-l)(x+2)2-¢ L ! fl
L 1 x-D(xr2) | : |
| 7(A) {;U“f; 13; : 203, {U={1,2,3 , 203 01| (ot
= 9 18,1 2[] ¢ and | : |
4L = s 10, 2 |
| ¥={1L,3,5 17}, then show that | b it § S
. X -~ Y _-,lA’ﬁY' .:";:,‘-;.;:t‘}'.-el’={l 3 5 I?} f
1 , X-Y=XnY i
| - . - 4. |
. (B) | The marks of six students in mathsmafics bO 70, 30, 90 1 S Zuee' (L)
, ave. 60, 70, 30, 90, 80, 42 Determiné siruf Lok Ly “ P
i variange and standard deviation. S e D he sz 8O, 42 %
! 8.(A) | Prove that tan® + cotd = secd cosec i tan@ + cotd = secf cosect Sgurt | (LUK
' (B) ! Circumscribe a circle about a wiangle ABC | | AB’ bem UL B tati 68 BABC | () |
i ! with sides |AB| 6em | BC|=3cm and | '
: _ ...,_u-cl CA|=4cm JJI\BCl =3cm
| C’«'Jl = dem. |
— e I ==
9, Prove that one and only one circle can pass W P : . bl 9
through thres non-collinear points, el m’_d__f_!ffﬂug‘rmw_ﬁjfg it )

OR

k

Prove that the measure of « central angle of |
" @ minor arc of a circle, is double thai of the
anglé subtended by the correspongling

!
|
I'
]
L
|
!
£ o ) ma] Or arc,

A et o . e

S 87 i crf T e S S ot |

-d;ﬂ,?ﬂ"ff'j)-:ﬂ’:i.)lj;y‘;ﬁ.u:rd;jh?w |
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!-’ul:re: Code "ﬁi 2023 ( A) Al

! Number: 3196 | SSC PART-II (10™ Class)
MATHEMATICS (SCIENCE GROUP) GROUP-II o mngrt Ca D P
TIME ALLOWED: 20 Mjnutes ) % 7/V it 4 au 20 = h._-:
MAXIMUM MARKS: 15 N 15 =/~

-G A el S 308 Lo hit e O N LD A I ALl DACB A wh 2 TR LS
2y fol Dt g g i drat Lo S A Lo LT -ﬁaﬂﬂﬁﬁuﬂuﬁmﬂgfbf,‘f*lﬂ_f 3 et

Note: You have four cholces for each objective type question ad A, B, C and D, The cholce which you think is corre
Fill that bubble in front of that question number, on bubble sheet. Use marker or pen to fill the bubbjim Cutﬂi::or ﬂflt'ing two or
more bubbles wil] result i zsro mark In that question. No credit will be awarded in cass BUBBLES ere not filled. Do not solve

questions on this sheet of OBJECTIVE PAPER. :
Q.No.1 RV
I v u 1
(1 If —=—=k then: ) ==—=k/ m
vVow : , VoW
L) u=wkt (8) v = vk (©) u=wk () u=vik
(2)  The third proportional of x* and »? LAY X @
2 ; . 4 2
A ®) x 0’ (©) ljy o %
x x X
2 2
x w1 x“+1 (3
iaj ' f . = A —————
(3) Partial fraction ——-——-r—-—-(,x D= pre of the form Hond” ,1__.-/15136(:: DG -1
W A2 ®14+- 4B+ (o4 A A2+5 . .C
x+1 x-1 t+1 x-1 X+ x=1 (x+10 =x-1
(4) (A R is equal to: A r;i' \ wetbnas (AU B)VC (4)
(A) Au(BUC ®) 4N@FwC) (€ (Aumhf:v @ An(BNO)
(5) [f A and B are disjoint sets then 4 U B is equal 10 A *\f;..;.r,-c.al AU BlunerS? 48 Aali (®

(B) B (C) f&\; D BwA

(A) A .
AEAILaadpSars @)

The extent of variation between extreme obsowjﬁopu ofa fhn

(6)
set is measured by: \ o~ E[
(A) Average bl (8) Dispersion 9-7°(C) Range &> (D) Quartiles g
(7) A deviation is defined as a diffmncgﬁf {my(ralue of _.o“jr B ATy AP TR
the variable from & P — o -
t.o.:r Constant A8 «(aﬁ I-fsmgram Ay () Sum ¢ (D) Product .~
(8)  sec?® & ; —esizsec? 8 (8
(A} 1-sin’@ :B) | +1tan® @ (C) 1+ cos*é (D) 1-tan®@
(%) The symbol for a triangle is denoted by: Wl Ll mles (9
A) < ' B) A (C) 41 (@D ©
(10) A tangent line intersects the circle at; -0 fls...?'u.,'b’.iﬁbfl (10)
(A) Three points 4mwf () No point at all u?d"'.;.w’
(¢) Two points 400 (D) Single point Py MY 1
(11)  The semi circumference and the diameter of a circle both ks ST Wb LT (11)
subitend a central angle of |
(A) -90° (B) 180° B; 270° ® 360°
(12)  The measure of the external anglc of a regular hexagon ia _ﬁaﬂjﬁgﬁ_,ugmwﬂ_g. (12)
, r
(A) -;5 (B) T (D) 7 -
(a»n The number of methods to solve 2 quadrapo equation is: sl pELL [V aiedon (13)
(A) 3 B’ 2 © 1 ®) 4
1y fF (0
(14) g4 p? isequaltor : . | IPIVIE SR M
) a?- A (B) L+ () (a+pR42af (D) e+ P
’ {Jf! ﬁi ; ]
(15 l -+ :-3’?' is equnl to: .4.,;‘!,{‘—; + E “5‘)
24
2 @ L-L (©) &= oy 18
. o a p af ap

32(SCTENCE GROUP)(Obj)( % % 2)2023(1"A)-60000 (MULTAN)



2023 (1-A)

th /-j lj”
SSC PART-II (10" Class)

MATHEMATICS (SCIENCE GROUP) GROUP-II brw el (/) S
TIME ALLOWED: 2.10 Hours A A/~ 2-23 2210 =
MAXIMUM MARKS: 60 SUBJECTIVE ¢ 60 = AJ

NOTE: Write same question number and its

r;m;ﬂ.gwirfrgwx:rmﬂdirLp,.f;qrqm, &

parts number on answer book, as given in the question paper,

SE 'I'ION~ ol
2. Attempt any six parts, 122 X6 &7 *i'ﬁilz‘iﬂ-éf -2/‘"‘ Jr
(i) | Write qundratw equation in standard form: I T #’r»ﬂr AL;JPJ_,,L,.L;,_,,_, (i)
i X+ 4 x - |
| Z4+4=0 | 4q a=32 4=0 |
X - .2 X . i x - 2 x _t_. D B
(i) | Solve the equation Using quadratic formula: | N EL e WL v it i |
4x% - 14 = 3x [ | . 4x*—14 =13y
() Usolve Bx+18=x B g | @
[Gvy [Fmd the dlscrlmmant of the equation: o ! 6x° 2_ gx... 3=0 . Zebn e | (V) )
| 6x" = 8x +3 =0 I . |
—— B o5 Hx,z‘ )
v) ! , Evaluate (1 -3 - 30 )° T (0 J\ (1 - 3@ - 302 ) ﬁ;{r,l.v_,j i (v}
T e — . \ (‘
(vi) ; Without solving, find the sum and produet of the f\\;.-/\' yw,,,,!r (Roots) P e L i n | (vi)
? 2 e
. roots of the equation. E.x + Tx i] (_\_ji' (r—» P f_-““l 3x2 4+ Tx ~ 11 é’r,w | ]
| i) Iy L y=4 when x=3, ﬁnd Jf}ﬁ\v X dn x=3.2 y=4u4 ya ~ A0
x Y : X
| whén =24 <, S A =2 g
A o et
[ (viii) | Find the values of the letter im m\r@M inthe ' Ao S5, p, 45 ; (viii)
contimied proportion, Sﬂiﬁ.w | e FJJ‘?'#"'"'{"“ S p
S e Sy .=
ix ax*ggﬁnd a=3 when h=4. & b=d.2 ﬁ=3.rnaa_~.£§. (m}.
- ‘ . . [ |
f. Find a  when b =8 L N |, en b=8 g
3. Attempt any six parts. 12=2X%5§ -41.»,,? ~=-L!££l7f¢¢-ljf-3/dir
T —— -
____(i)__ .__: mme raction - e jj| e A 3 ﬁ—é',;tf/ O
: . 6x' + 552 - 6 6x’+ 5526 |
ii) | Convert into proper fraction. - v e 1 (i)
(if) PO SRR -~y 1 kv /-’: Fw | (if)
() |1f X =gand ¥ =2" thenfind X0p ] ER XY In Ko m Xeg A G
; (V) 1If A=1a,b) and B = {c. 4} thenf'nd " % B ={c,d} sd={a b} | GV)
;l - Bnd . : o ..ﬁ,‘)‘“B » A ._-_;
} ™) 11f Z={a, b,¢] and A = (3, 4}medﬁnd Yo M ={3,4} wl={abc}fi| (V) |
. two binary relations of M": L .#'r:’”#lmjb?uﬁM % L i
| {‘r'i) Define intersection of fwo sets, i E AL Ut | (vi) l
: (vii) El‘gr t;!e Eg,wen data find the harmonic mean, | 128, 3 4_£r_,;..hjbg-,rr;d_£_,,r.£:‘r, 1 (vu)
! . | R L
:_(viii) Define gtandard deviation. l - A I A1 | (Vi) i
— |
i_(i}:_} Write two properties of amhmenc mean, 1 .gf.:.t.-r"‘m!mu}u (ix) |
et s i i = i)




N IN — &7 L2

(2
4. Attemptanysixparts. ~ 12=2X6 _éﬁqmélmgaéﬂdfﬁdlr
(@) | What is the sexagesimal systefn of measurement Sy b LS g S U @ |
__|of angles? ; ' e |
(1) | convert 1;5 into degree. Ay v 18E (i) |
i) | Find" r, when ¢= 32cm, §=45° | 0= 45° L= 52 REpr T W |
() |Prove that tan‘@ + tan?@ = tan’ f sec’ 0 | tan’ @+ tan? @ = tan’ 8 sec? 8 Sgaat | BV)
] (v) | What is megnt by zero glixhensiﬁn? e e ()P ) |
(vi) | Define length of a tangent. S, i) |
_.(Vii) Define segment of a circle. ] ' ot (vi)
(vii)| Define circumscribed circle. Ly (viii) |
(ix) | Divide an arc of any length into four equal parts. y #_'(_j Lur® il fui _{,L;'lju';" (ix)
SECTION-II (22
24=8X3 - $ 9 /dlr-ﬁ-ﬁf&&fﬁﬁawrufa.éf o
. NOTE: Attempt any three questions. Question No.9 is compulsory.
'5.(A) | Solve the equation. Pr+T=2043 | Jix + 7 = 2x + 3 S St | ()5
" (B) | If a, B are the roots of the equation | fx +"mz£y+=n o0 wits B S () |
2+ mx+n=0, (£=0) thenfind the 1 |
: 1 \ @ +.-=- “Jus (Roots) Pl (£ #0) | |
value of — + —5 | @1\“\9) ‘ ;
: A i 4 ;/!'", ] > | -#-I”Lv*“dtf !
| 6.(A) | Using theorem of comE:onendo-dmdendo. \j}\; . f' e, S5 | ()6 !
X+ 22 40 AN & . j
ﬁndthcvalyeof T-_}"’Il.f(\/ ! ﬁfgﬂh‘-ﬁf‘!l’( x+2y i+§: !
) .,\-:;ﬁ:) % 4 | |
T A - gmeel
(B) | Resolve into partial ﬁ-aq.:.u'éshs ''''''' ¥: Jﬁ: x =11 w; (o)
x =11 | (x—4)(x+3)'£"&?”¢' wE |
; (x=4)(x+3) I (N[ At gl . ;
A I A= (123,456} ! d=1(.234,5 61/ | (0T
| B={2,4,68}and JuiC £ {143},,; B={2,468)
| C={1] 48}thenprovethat E‘]
" (B) | Calculate vanancd for the data | 10,8, 9, ? i 1. 3 6.8,2 ks _“:fgﬁ 2] G |
| 10,8.9.7,512,8,6,82 _ _ - ; —
"8.(A) | Verity the identity _ LStk | ()-8
' (tan@ + coté) (coséi‘-t-smfi*) = sec@ + cosecd |
' o i (tan9+cow)(cosﬂ +sin@) =secd + cosect
(B) | Circumscribe a regut.pr hexagon about a PN B K S IS Nedskl | G
circle of radius 3em. |
9. Prove that a straight line, drawn from the y,,Ld,r_;:.:-'L((Mgﬂ);,off_f/‘gh;,,_féﬂp 9
centre of a cjrcle to bisect a chord (which is d : '
not a diameter) is perpendicular to the chord. crrr frs A | ;
OR L 1
Prove that the measure of 2 central angle of | 23 s Ui 4_‘,_' U s S St ;
a minor are of a circle is double that of the Ia
angle subtended by the corresponding | g e i v Lol ? 35 |
fmajor &rc, I ) = |
n.mﬂrl“-m-ﬁﬁdoﬂ (MULTAN)



u -ﬁBER 31 91 I Wl TRl RE g RREREE R TR
(THEMATICS (SCIENCE GROUP) GROUP-| by -t (of J) S
IME ALLOWED: 20 Minutes OBJECTIVE (3 220 =

MAXIMUM MARKS: 15 MTN "4! 15= A

-
Ao L Jfonse bl R erne Ut Uf.:“';ié-}'i.lf&d'fﬁ.;lér.'ﬁ SELEHD HCB A ..-..-I,Lﬂ..'-f;gf.dlfﬁ —d
sz 4L _fLIgLJVG};':’EJfL,ﬂ.:.-;!‘u"LJ}.é .1':);?': -h'r:;rjﬁ...ﬂ:’:u:ﬁui;-u"dfi.zq Lk L L.J:éfujﬁlm'l,}a__g &
Note: you have four choices for each objective type question as A, B, C and D. The choice -L{,QJ’J’}.:-UI:-'
which you think is torrect, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbies will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) The number of terms in a standard quadratic equation -3 wdSud s ax +bx +¢=0 OANL Y1 eV 95T (1)
ax*+ bx +¢=0 is:
(A) 1 (B) 2 (C)3 (D) 4
(2) f @, B arethe roots of ez af Jun L Tt -x+4=0bls @ <P @
T¢'— x +4 =0 then off is:
A -~ ® 2 © - fo)
1§, ¢ 7 : L 11
(3) + - is equal to: it —+— (3)
o | N & —p e a P
(A) — (B) — == (C) —— (D)
o a P o af
(4) Inaproportion @:buc:d . a and d are called: -;,'_?LI.L:"/ d A a & abuc:id -t (4)
(A) Means Wt (B) Extremes a"j) (C) Fourth proportional ..,-' _L?,g;f"x'@jf"lﬂone of these AUde Ui
(O
(5) If y7 o —I_—‘ then & .-\,5:.%1{;— Syl l} S @)
2 s K | ,(\\L\—é S 5 2 3 *
Ay Y= 5 (B) ¥y = 3 (‘-..:"i'Jf}EG) Cy=x D) y = Kx
(6) A fraction in which the degree of O nadetie sl fabilRASS 6)
the numerator is greater or equal to the degreep_,pfﬁ@ip}iﬁ%inator is called: (A) A proper fraction /.,.ah
(B) An improper fraction /.._..zfsﬁf > \r\\f@ " (C) An equation =L~ (D) Algebraic relation j;d,_-{f
a A\ a
(7) Aset Q={E|ﬂ-b’53 ;\bat{};,kﬁ}&ﬁaﬁedasetof: _c_:..t'Lk-'/-'-: Q={E}-|a,be zAab :0} (7)
(A) Whole numbers MEJI\ o (B) Natural numbers ;La:!;bj
(C) Irrational number sl L Z (D) Rational numbers sl
(8) Power set of an empty set is: s bl berdl (8)
(A) o (B) {a € {¢.fal} D) {¢ }
(9) A histogram is a set of adjacent: ..:J-""q..;rfﬁd ¥ (9)
(A) Squares Uiy (B) Rectangles ¥u&*" (C) Circles Ui/l (D) Triangles ¥
(10) In a cumulative frequency polygon frequencies de bbby Bl Seb L FodsE  (10)
are plotted against (A) Midpoints  b&te
(B) Upper class boundaries Jurfﬂ?.JUL (C) Class limits etz (D) Lower class boundaries :mfftzu:;;
(1) secO cot® = secOcotD = (11)
A 1 ] sin®
5 vin ®) ost ) 508 O} oo
(12) A chord passing through the centre of a circle is called: - t'].laf.r-'.iwh;_-,‘:fd-;{:’éﬁ-jb (12)
(A) Radius J/1u (B) Diameter p (C) Circumference »¢ (D) Secant C‘.’G‘jp'
(13) A line which has only one point in common with a circle is called: -& b onS; }*‘i‘ﬁbﬁdﬂﬁvﬁgﬁub’fﬁ-g (13)
(A) Sine of acircle  Sine ¥/ (B) Cosine of a circle Cosine § 71>
(C) Tangent of a circle Tangent ¥ 70 (D) Secant of a circle  Secant £ 71
(14) The length of a chord and -Ex AL pE i eSS S e Kl (14)
the radial segment of a circie are congruent, the central angle made by the chord will be:
(A) 307 (B) 45" (C) 60" (D) 75"
(15) A line intersecting a circle is called: e bt (18)
(A) Secant 3 Gl (B) Tangent JV (C) Chord 7 (D) Diameter e

AniARi ST 80921 AY-E0000 (MULTAN)
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T EE R AWMIILIT L URVUF ) ORUUF-] u-’" - Inr:-d’tI (t?d; u::L") U"LJ
TIME ALLOWED: 2.10 Hours SUBJECTIVE . ¥_» 2210

= =
MAXIMUM MARKS: 60 M T-G)ay 60 = AF
NOTE: Write same question number w3 Z-,nbt;_.;.;!irfzg,f E,;;/.%JZJ;WJIV@:.;Q e o

and its part number on answer book, as given in the question paper.
SECTION-| JiL»

2. Attempt any six parts. 12=2x6 - feelizige§f 2/ )y
()  Define quadratic equation. ~E Al ladn (i)

(i) Write the quadratic equation in standard form. (x+7)(x-3)=-7 =t bt tsbn G ssss (ii)
(iiiy - Solve by factorization. x*— y _ 20 = 0 X -x-20=0 -ESendsf i)
(iv) - Discuss the nature of the roots of equation. ¥ + 3x + 5=0 X*+3x+5=0 "_-.’.J:-E-ia;fl-jfo(duf-u“-b‘r—' (iv)
(V) Evaluate (1-0 -n?) (1-0 -0%) _Znei O
(vi) - Without solving, find the sum and product of roots of equation. \\jg’,{:ﬁ"'—f/ﬂ’ barler ¥/ L S (i)
X" = 5x 4 3\5-’!
_\.\,(«'_-_::'1 't.I At - g .
(vii) Define ratio and give one example. ?*‘"\f_; 2/ ~EaJbllngt v e (i)
4 '-;'.'.L \‘33 :
—% [“-».J'" " o
(viii) H3(4x - 5y) = 2x - 7y, find the ratio x : y r;’;ﬁu\’ _g.’,J:}:""x tyed 3(4x - 5p)=2x - ?y/’r (wiii)
il ::':\I'l, (\l;’\\_“‘j = i
(ix) WRoT?and R=8 when T =3 A2 T=6LE™ RiwT=3 = R=8 u» RxT*® ji (v
~§
find R when 7 =6 AR
3. Attempt any six parts. )" 12=2x6 & fe\rlizg e 8 3y
(i)  Define a fraction and give an example. _é:dﬂ'._ﬁ;ﬂ_q{ ..é"/‘t{fr (i)
(i) Find partial fractions of — > 3 PRI
(x+1)(x-1) (x+1)(x-1)
(i) X ={1,4,7,9)andy ={2,4,5,9) EFXUY I ¥ =(2,4,59) 51X ={1,4,7,9} (i
thenfind X |J¥ :
(iv) Define a subset and give one example. —é!d"’ Lt -—!‘/‘(5/—{13} ()
) WL={a b, c}and M = {3, 4} then find _5‘;‘:’()5"1,1*.};&{;}.1& M x LinM = {3, 4} L ={a, b, c}/i (v)
two binary relations of M x L
(vi) Find @ and p , if (3-2a,b~-1)={a-726+5) -:ﬁe‘.frﬁ*’ b o a (EIL
(vii) Find the geometric mean of the observations 2, 4, 8. GEPAGIL L 2 4, 8 ok (vil)
(viii) The salaries of five -2 P22~ 11500, 12400, 15000, 14500, 14800 Uit (LUPAFSE VgL (vii)

teachers in rupees are as given 11500, 12400, 15000, 14500, 14800. Find range.

(ix) Define standard deviation. -EBA A (%)



\e)

4. Attempt any six parts. 12=2x6 -é{faglﬁilmga.df -4
(i)  Define radian measure of an angle. M m - q |- 2>~ Sty ,Jg-‘,ﬁ'-

(i) Express the following sexagesimal measure of 45°30' -:;‘Iguf yJ,;l.ifls';:lj{,[’ e Lyl S

the angle in decimal form. 45°30'

(i) Convert the,following to degree _5‘_;‘_ ..Sgn NP IR i
(iv) Find '¢' ,when r =15mm, @ =60°30' 8 =60"30 r=1520 BEp 1" (i)
(v) Define zero dimension. ~Eflensp U
(vi) Define secant. JIw 5B i)
(vii) Define segment of a circle. .._.cé._.ij,;&ﬂuﬁ i)
(viii) Define circle. i‘_-.',‘{..y/*’.;fa}h (wviii)
(ix) What is meant by vertex? Sl (ix)

\__/' b
SECTION-II (1.2 ( n\

24=8x3 RS Qy}dwaé;/uwﬁvwmtc.df o

NOTE: Attempt any three questions but cmﬁstron No.9 is compulsory.

5.(A) Solve the equation 2x + 5= /7x+16 Mf}\' S x4+ 5= J7x+16 =l ()5
A \ ./
\ OV
B) If o, B -ura’, B u{?.?_’u’.»_.u._.uu&uufﬁ&.x ~3x+6=0=b B o S (L)
are roots of the equation x” —f3x“+/6 0, Form an equation whose roots are o’, B’
B.(A) If a:b=7:6 thenfind the value of e la v sh:Tb-5a dm a:b=7:6 1 (.6
3a+5b:7b - 5a
1S B
(B) Resolve into partial fractions, — - %" ! o oxtl e ()
(x=1)y(x-2) =1 (x=2)
(B_A)=BUA . ZLetde B={1,47,10} s A={1,3,579}U={1,2,3, - 10} J (Uh).7
T(A) WU={123--——10} , 4={1,3,57,9} and B={1,4,7,10}
then verify (B - A) =B'UA
(B) Calculate variance for the data P F610,8,9, 7,5 12,8, 6,8, 2 sy (L)
10, 8, 9, 7, 5, 12, 8, 6, 8, 2,
8.(A) Verify the identities, |60 +1 _ secO +1 sec +1 _sec +1. £ wliir ()8
secO —1 tan® sech — 1 tan0
WA AN 38N CA « BC « AB LSt 26 AABC (L)
(B)  Circumscribe a circle about a triangle 4BC with sides | AB| = 6cm, | BC |=3cm, |CA| = 4cm
9. Prove thata straight line, drawn from - bs?y ssabithl S (e PRI Il St 9

the centre of a circle to bisect a chord (which is not a diameter) is perpendicular to the chord.



RAPER CODE | - U T, Eg;—z A
NUMBER:3192 |  SSCPARMI(DMCLASS) . _

MATHEMATICS (SCIENCE GROUP) GROUP-I - wf  (of )
TIME ALLOWED: 20 Minutes: ~_-OBJECTIVE 322 L w20E

‘NAXIMUM MARKS: 15 1..\-41’”—-— . 5= AF
Ak L S GWE S reene S um;f{.ﬂwrﬁﬁdﬁ}{ﬂ FELLZDHCBA .:-Hz.Evyf—db'x -....i}
;.H.Jlr.,ﬂ o AT 2SS S Lo .ru:ﬁb -ﬁa%.,-&uf.»;ﬁm;‘fi.& oKy Lfg&:ﬁmﬁ:— (- s
Note: you have four chaices for sach objective type question as A, B, C and D. The cheite -/ L/ re iy
which you think Is corrget, fill that bubble In front of that question number, on bubble sheet. Use marker or pen h
to fill the bubbles. Cutting or filling two or more bubbles will result in Zero mark in that question. No credit will be

. awarded in case BUBBLE&mnntﬂﬂﬂmnqtmNiquﬁﬂmunmhMﬂmm :
Q.No.1 | ; A f.’dV

(1) The quadratic formula is: _ | Q7 L 5T
. -—h+\hz—-4m‘ _ .F|+ u‘hz—éap ' —h:l:-.?b1+ dac ! bi,fb’q-sim ;
T B R e B x=———— Q) ¥ s ()= —
_ 2a 2a 2 2a i
2 W o B arethe rpols of 2 g uf '.'-'u.rq_,-‘jm.': TXW—x+4=0b B S (2
Ix =x+4=0 ,then «p. is . . )
. (A = ) (3} R © < (D]
3) Rmtsafﬂ'neaquahm-tx idi s Lm0 . . -wiwf.ax LAl .
| (Al Real, equal (& ¥ (B) Reat, unequal (& .4zt {cnmaqmyg.?} (D) Imational Ju,i
(4) The third propomanalof x and ¥ s _ > -1'.-...-##-'/!' ¥ouxt
ol ’ 4 j"\'.‘,-)
AT CE) A (C)i{; o o =
5) i a:b=x: v mananemandoiampemns LT RAESY -«;..rr-kaa b=1x: y; (8
' S ft_.'r/#”:b X+ y a-b x-y -
wE2 o g E=t =ttt gy =
Sy A S "> b ol Pk '
6) S e g ; AN i : i — Rl
(©) x=1)(x+2) b ! ‘\'f' : + . (x-l){x+2} (5]

(A) A proper fraction -3 {B}An .mpro@l‘rawun A (C) An identity <LV (D)A constant term f.J""‘
(7) f numbef of elements in set 4 \H:-Hmdﬂwuﬁmﬂ AxB Y4 L Bira3 qu A uw"l A
asaamtinsai B is4, mennumtaarofeiamentsindxsls :

(A) 3 ' v @4 - © 7 ©) 12 |
(8) . The domain of R = {(0. 2), (2. 3). (3. 2), (& )} is:  -c-Ux Dom R MR ={(0,2).(2 3% (3.3% (R 0LS . . (8)
(A) [0,3.4) (B)%0,2,3) " (C){0, %4} 0234} _
Mear is affectd by change in , _q.rrxly!xl:,f._/U’;( g (9)
\Aj Value =F (B) Ratio ="' (C) Origin & .fif; (D) Number » .
(10) The extent of variation between two exireme observations . -;Eq'fﬂ}aﬁwlﬂjl#lgfwf ﬁ-d]’
of a data set is measured by: '
(A)Average bol - _(B)Range = (C) Quartiles /g (D}-thaman 25
! : ok ! ]
R o e S X5 - . Tvsmd T-sme
- {A) 2cos’® " (B) sec’® (C) cosb (D) 2sec’@ :
(12) A chord passing through the centre of a circle is called: o ..4.rufnmuﬁ'.-.)}£.:.m (12)
' (A) Secant Jok - ¢ (B) Circumference & (C) Radius /s (B) Diameter » -
{13) Two tangents drawn to a circle from gt el dsud i mdw&..ﬁa.f (13)
a point outside itareof * - in length. i
(A) Half i< " (B) Double &/3; (C) Triple (D) Equal

(14) Anarc sublends a central angle of 40" then ¢ &x
the correSpond!ng chord will subtend a central angle of:

SISl -+ 4 IR ()

(A) 80" (B} 60" (C) 40" Dy 20 s
(15) How many tangents can be drawn from a point outside the ircle? \pEpgfvenloty (15
(A) 4 {B) 3 : © 2 R ; R

32(0bj)( 7T )-2022(A)-40000-(MULTAN)



) 2022 (A) s
SSC PART-I (10th CLASS) _ PR RT

MATHEMATICS (SCIENCE GROUP) GROUP-I 1 -l (id V) S

TIME ALLOWED: 2 10 Hours - SUBJECTIVE J@L» & 210 = <

]

MAXIMUM MARKS: 60 - M 70 ..q l-zja, 60 = AF
NOTE: Write same question number -l g g 7 Lnﬁ?ﬂ;@rﬁudﬁém Y
anﬂihpirtﬂumbnrnnmlmrbook,ughoulnthaquuﬂonplpw

.- SECTIONJ Jie
2. Attempt any six parts. 12=2x8 é;ﬁ.—.ywélngéf 240
() Solve by factorization. x’~ x —20=0 ! ‘ P-x=-20=0 -#‘de;.p.p U] .
(1) Define exponential equa_ﬁon. _ | . b X ‘I : ~Eaflamafued iy
n) 'Sul;;e by -IJ'SJI'IQ_'QUBHFBTIC formula, 2 — x* = ?x A e I 2-xi=Tx _'é'd":.'ﬁ'-"'fé I!ﬂiv}:m'-_'(iii)

(iv) Find the discriminant of given quadratic aquaﬁm. ;2% 3x-1=0 _#rﬂ'ut???)fﬂ:mhm Aiv)

(V) Without solving, find the stim and the productlof -5¢43=0 -éﬁ“fﬁd%w#ﬁﬁuﬂﬁﬂqwm (v}
the roots of the quadratic equation. ’

{w) Find the cube roots of "-1" . TR B L\,\'\ -é.l"b" g - i)
(vii) State theerem of componendo-dividendo. A )¢ : - M.,{J,.P {ui)

(vi) Find 'x" f 6:%x:23:5. ’ ) :‘ {:\"} F. . -é"’h’ ‘x! s brxnld: 5 .’J (ﬁ}
. \ ; ’
{F:\ '-\
'I J
'\

{ ‘H '
o,
\‘,1

when » =3, find ‘7' when 4 =72

]. E
(ix) I A F‘ and A=2.

3. Attempt any six parts. , 12=2x6 . ,é';fuwd.’.l?wr_éf 340
() Resolve into partial fractions d_,]_! - T -;£¢m;/ﬁ,z W

A -
(i) Define partial fractions. h - . LAz @,
Gi) W X=¢, ¥=2" thenfimd XUY e XUY oY=z X=04 () :

(v) #A=10,2,4)and B={-1,3} thenfind 4 x B A x BIB={-1,3} A={0, 21.4}).?_ {iv)

Fingthesels A ana ) X x ¥ ={(a,a), (b, a),(c,a) (d,a)} : -ﬁ-"'-r’b" Y oo X = W
(vi) Define a function. y . l -#‘-EM [’fﬂ'
(vil) Define frequency distribution. : ' -é-ﬂ.ﬂ&cyd:ﬂ (vif)
{viii) Write two properties of anthmeuc mean. c.‘-duh:'"nlﬁv'&}l-’ (viii)
(ix) Find merangeofmefoliowing welghtsofshﬂmls - é,-i-‘(ﬂ:;}.w&m&,.ww (ix)

110, 109, 84, 88, 77, 104, 74, 97, 49 59, 103 62



4. Attempt any six parts. Lf{"“'/ ' : Lz ':2J x6 -;{;/ai,l_ﬁ&lzr{;_.(jf :4/1,]!;!
G- Gy e Enn e

# tan® MLGELASN 8 o cosd = — f o)

How many minutes are in two right angles?

| 9
) Fifid tan® when cosP o and

terminal side of the angle @ is in fourth quadrant. :

—
M

=
-—

Prove that (1 - sin@ ) ( 1,+'1an?0) =1 (1—sin0 ) {1+ tan?0)=1 Jpfeb (i)

'i{v; Fing 7 wnen ¢ = S2om, 0 - 45" | E= © L t=52m 0 = 45" fupredd P W)
(¥} Define Acute angle. o 5 s L W)
l(;) Define tanigent to a circle. ' 4 : -J-Q/'{ﬂjb‘ﬁufh (vi)
_(.*Ii) Déﬁne_ circumference of a circle. | | : F . ' .u.j...é}{fi!ﬂw_ﬁ_f: {(vi)
iii) Define the escribed circle. ' : FuASmde i)

—_—

v o~ om

The length of the side of a regular pentagon is Scm, §ind its perimeter. ‘.'..:.Uibit’o’l P JUJ & z’..;j;“‘ < ()
- SEC

(15
$y gfidlf‘jﬂélfublﬂéulﬂfpﬁ&-d[ s
juestion No.9 .ia eompulsory

é.rf;.l“’f 2x+5 =[x + 16 =i (J).s

P " 24=8x3
*OTE: Attempt any three questions b
;5 (A)  Solve the equaﬁ:;n 2x+5=[Tx+16

Im). e . p setie - .é_frﬁwi:!l "Ei :t;in ..«4: 4 -5x+6=0 6B o S (L),
. ] ¢ .
i rnohofuwaquauunaix ~S5x+6= Othenﬂ__ ;ﬁlue-of l+é—
< o
B.iA) Using theorem of L A= e v;l{.‘ redd 22 ;J ki ;z ¢ HLIJWI:'M.,/J.P ()6
1 P S5 4 X = &I .
r componendo-dividendo fing ma%‘alde origak B2 e W .
x =2y fux—22 y+z
/ | .
- (B) Resalve into partial lracuons s w7 (L)
L _ g “(x+1) (x—l)(x-&-l} é-m G Bl
i B={14,7, t{)}"’! A..{Lj’_ji?’ 9} 1 U={l,2.3.4."-‘—_'-“10}}1 (J}_? :
(A FU={1234--—-- 10} . A=(1,35/79} L - B—A=BNA Sk
and B={1,4,7,10} then verify that B — A3 B(1A' : : o
(B}~ The following frequency distribution shows the welghts .= ¥k -.;_p_)}:w’{rfﬂ )ur;.rlu)f‘_’ﬁ:ﬂ;au Cued

J of boys in kilogram. Compute the mode. t

Class intervals »e(lz |  1-3 4-6 7-9 | 10-12 | 13-15 | 16-18 | 18-21
| Frequency . 2 3 | 5 4 8 27 %
, o +cost  sind - e | + cos® sind ; Sl (L8
8. Verily the identity -+ %% = 2coseoly + = 2cosech ~aetilalle (Lik)o8

| . sin@ | + cos@ : sinf | + cosD

| WEun [CAl= 3 | BC| = 3| AB| = 8 LIALSEL talbibY ABC LBJEL A gy ()
_' (B) Escribe a circle opposite to vertex 4 to a.triangig ABC with sides | AB| = 6cm, S
l |BCl=4emand |CA!=3cm. find its radius

T. Prove that the chords of a circle whlch are t ..w.:..nuf‘h*(‘ Lu:rJ-Hd:la-.:.-_szimui;._ﬂJq/_rb -8
equidistant from the centre are congruent, ; '
= ok 4. - .
| Prove that any two angles in the same segment | Ul stdsdlunlinfaiabiglizg i L S et
of a circle are equal

I : 5 32-2022(A)-40000 (MULTAN)




NUNIDER: QO 1 J [ l Fea .
MATHEMATICS (SCIENCE GROUP) GROUP-I by - _.Jf (..__..J S Gl
TIME ALLOWED: 20 Minutes OBJECTIVE (. w20 = =

MAXIMUM MARKS: 15 M7Tn-6) -2 15= AF
/c.ff L /(L;/!JJLVJWJ:--[?MJJLUC u:fhcfc_}c'_bﬁ,)!rfzgé?dfi u"éé..: DusCB-A ..,W..,szﬂuir; Ly
L2401 ch_bL:f/dbeH;:‘Jd.):u; }:J:fh -fmr"".hﬂ..rlhx);u"...ur‘Jd../Q Jo¥ ! d.,&.r(uuhul.;c_..f &
Note: you have four choices for each objective type question as A, B, C and D. The choice -uf J/':»-._«u!r
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled, Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) A4cm long chord subtends a central angle of 60° e S e bl 607 (i 4 (1)
The radial segment of this circle is:
(A) 1em ¢ 1 (B) 2em (2 (C) 3em ¢ 3 (B{'acrn 4
(2) The circumference of a circle is called: . e t‘li:'/hf K 21y (2)
(A) Chord J (B) Segment =+ (C) Boundary (D) Tangent
(3) Standard form of quadratic equation is: _g.fdJ_LvJ.—,bL-‘&uu (3)
(A) bx+c=0, b=0 8) ax2+bx+c=0,a#{)
(C) ax*=bx, a0 0) ax*=0, a#0
(4) If o, P arethe roots of s oo+ P ?uxujudi 3x2 + 5x - 2 0 =i p « /i (4)
3x? +5x-2=0 thena +p is: x--,,
" 2 @ = © = “\ o =
3 5 \1' &
(5) The discriminant of ax> +bx +c=0 is: /‘\'\_) ) ,..c.l:'npfu}(ax + bx +¢=0 bl (5)
(A) 5% - dac (B) b2+ dac /1 Q@ 5% 4 Aa (D) —b%— 4ac
(6) In continued proportion ..c.l.“Llf...er 'h' uwf. 1:;'\;‘ W 'a' A oac=b> . a: b =bh:c b (6)
a:bh=b:c ac=5h*. 'b' issaidtobe pr a! between 'a' and 'c¢'.
(A) Third 1~ (8) Foudh (C) Means k- (D) Second |/
(7) Find '.x in propoﬂlon 4:x5:15 \j N iérs‘-’" X' R 4ixn5:15 b (7)
() 2 <-~'i-;;f':?é‘i’?:4- (c) = (D) 12
4 A 5 4
(8) The identity (Sx+4)% = 25x% +40x+16 is true for; cemnd & L o (5x+4)2 =257 +40x+16 = (8)
(A) One value of X .;,.E_._Gd/ X (B) Two values of x u{f.'nJ x
(C) All values of x uj'-'.srﬁg; x (DY Three values of ¥ ui;fufJ x
(9) A collection of well-defined objects is called: e tlede Bl @)
(A) Subset .'-wG? (B) Power set Zrut  (C) Set cr ) (D) Improper set 2re2l
(10) The number of elements in power setof {1, 2, 3 }is: ' ce Gl s & {1,2,3} (10
(A) 4 (B) 6 (C) 8 {D) 8
(11) A grouped frequency table is also called: i EUe S5 s/ (1)
(A) Data st (BY Fraquency distribution (‘” ) (C) Frequency polygon Z..usm/d,.w (D Histogram __.:J ¥
{(12) The most frequent occurring observation in a data set is called: -:’-dll"/»d'rd- Termbiceroily (12)
(A) Mode asb (B) Harmonic mean b:i..f;l'(" (C) Median &~y (D) Geometric maan La;lL,ﬁ_J!
3n . _ .y 3
(13) i Radians = =fhs T (13)
(A) 1157 (B) 1357 (C) 150° (D) 30°
(14) Radii of a circle are: sl gl (14)
(AYAll equal lzplF (B) All unequal <z Z
(C) Double of the diameter e & (D) Half of any chord &7 nd" u’r
(15) A line which has two points in common with a circle is called: & unS Pl LS (15)
(A) sine of a circle sine K 71 (B) cosine of a circle  cosine K /i
(C) tangent of acircle  tangent e 7 (D) secantof acircle ~ secant ¥e_ #;

' A A A



AATHEMATICS (SCIENCE GROUP) GROUP- b - ots (a/ V) Ol

TIME ALLOWED: 2.10 Hours SUBJECTIVE &L 210 =
MAXIMUM MARKS: 60 mTn-41-2 60 = AF
NOTE: Write same question number .,iabj:dz?_,;glrﬁ?_é’ &f;:ﬂsZ;;!ﬁdlﬂﬁ;{QKL}lﬁ iy
and its part number on answer book, as given in the question paper.
SECTION-l s
2. Attempt any six parts. 12=2x6 -g__f,f/’.;.,yﬁeii:zg;_.df 24 )lv
()  Write the quadratic equation in the standard form: LA 2. L 6 -4’1 gtfu;pf;.r,m;;m iy
x+1 x
1% 9 R -
(i) Solve [2.r~——) =2 [gx__] =2 &S W
2 4 2 4
(i) Define radical equation. A (W)
(v) Evaluate o " +o 7 o B+ _érs‘*".:..f (W)
(v) Wirite the quadratic equalic_'n having following roots: 3442, 342 A -g:,‘}bg,{uudhu'z)pfj@n (v
(vi) Find the product of complex cube roots of unity. | /\S/J J e AL b EA L0 )
@ L\\?l )
ANY

y=28 B x W F=2 £ y=8 sumtend ¥ a x N iy
AN
(vii) If ¥ variesdirectlyas x ,and y =8 when x%@%d X when y =28
e Y

= 1
(viii) ,g:s:i_’ and a =3 when h=28 .g_—r:*”'a @ h=4 <2 a=23 n!titﬂt-b"z- (i)

- e\
b ~R
o

b=4 find a when =g

(%) Find a mean proportional between x> — %, oy, T=X ,,g;fr,-‘”___,—g:#&;,,, (x)
X TRY. x+y
3. Attempt any six parts. 12=2x6 -“égfay!ﬁf.legc.df 2340
(il Resolve into partial fractions. —Ei:j—— _zx_—S____ ~L{/r‘(.}-'-b’uful/l535’-’ )
X" +2x-3 x4+ 2x -3
(i) What are partial fractions? i Bz (i)
(i) 1 X=1{1,4,7,9} and A xUY Y =1{2,4,59} 4 X={1,479} )
¥=1{2,4,59} thenfind XUY
(iv) Define a sub set and give one example. e e E o)
(v) Define a function. : IS W
(vij If A= N and B =W thenfind the valueof 4 - B ..L_,jx?:"-*’.-.‘EJA -Biyn B=Wul A=N J (wi) -
(vii) What is Histogram? St zfﬁ-’ﬁ’d ¥ (R
(viil) Write the names of two measures of central tendency. _u:‘f':éiuigui JEnS Sy (V)

(ix) Define Arithmetic mean. -;,{jf.@,;gfmﬁn_}u (ix)



AN et L . g e« R eyt MO0 gt m m q’.y -_.G:-Juvhtl.fﬂe‘;'.b_ffu;-‘f u.

(i) Find x if 6:x::3:5 ,g,i_'r)-" x¥ 6:x:3:5/ {ii)

] o .
(ili) Locate the angle 22% in xy —plane. - ___é,;;LFu:dﬁ-' - Xy ,"22-% #217 (ifi)
(iv) Change into radians. _150° -150° -EUrdyts @)
(v) Find © when r=235m, ¢=4.5m =45/ «r=25% ﬁg.'-:lr:l” 6 (v)
(vi) Locate the angle in standard position using -100° -Z bl el S ;{j,,;,&__,u (vi)

a protractor or fair free hand guess. —100°

(vii) Define an angle. - 4,;021’-7 (Vi)

(viil) InaAABC , calculate mBCwhen — mAB = Scm, mAC = 4cm, mZA=60° S mBC £ ABC (i)

(ix) Divide an arc of any length into two equal parts. qgg.f{:y;ﬁu:";r.mfui.ﬁgmp{( (ix)
SECTION-II 1.2
24=8x3 e §iU 84 g el et fe 8 o
NOTE: Attempt any three questions but question No.9 is compulsory.

5(A) Solve 4x?=9x2_4 o 4xt=0-4 LS (s
\?‘ \2)
(B) Forwhatvalueof k |, ic;..Cﬁ/J; k* x ?{Jr-;- 1) x + 4 ,J.?mLJA_L._.PJU’ k()
the expression k2x2 +2(k +1) x + 4 is perfect SCIUEFQ“&\_)

r—' )

N E[‘i 24 + . Ll e ke (H)-6

<o) K2 42— sz—Z
N

\ \J
6.(A)  Using theorem of compnnendu-d\na&&hdo solve l{ k. +\fx % o
Ny Vx 4.2 — \[x ~2

\/
2

\.,,

2 5 2
(B) Resolve into partial fractions —~— '+ X~ +2x+1 EREBS Bz (W)
(x=2)Cx + 3) (x—2)(x+3)

Rz{( y)|lx+y=6 }-L,.L:hlyf.w' M e L7 M:{yLyePaye:I{)};;rL:{xleNnxSS}/'T (.7
7. fL={x|xeNAxs5 }‘M={y|yEPAy‘:-IU }thenmakerelaﬁnnfromLtoM R={(x,y)|x+y=6}
(B)  Find standard deviation 's' . 9,388 9 8 9, 18 EeR st DG ()
8.(A)  Verify (cotb + cosecB ) (tan® — sinb ) = secH — cosO -uf/r-:r.i‘ ()-8

(B)  Circumscribe a circle about an equilateral - 4 JHJ&L@L?;[’I;JFVN’ ABC s bfepbsl- ()
triangle 4BC with each side of length 4cm.

9 Prove that a straight line, bt i b ind S (s 2oz Il Sk -9
drawn from the centre of a circle to bisect a chord (which is not a diameter) is perpendicular to the chord.
OR |

Prove that if a line is drawn e tny Lfb’z_ﬂ:;,-fsﬂé_!;g‘:’qr‘.;.L'ifuwi}_{ﬂu’?mb;ﬁd e )i SE ek
perpendicular to a radial segment of a circle at its outer end point, it is tangent to the circle at that point.



MATHEMATICS (SCIENCE GROUFP) GROUF-I YN -l Nt U VIV

TIME ALLOWED: 20 Minutes OBJECTIVE (5% N e 20 = =
MAXIMUM MARKS: 15 Min =622 | 15= A

S i L 3o el e gt sz e v d607 LD 4 C B A 2Ly
VEIE V] -fﬁ.bl J/J.r[fuu‘&’...u.g .J:J:/JJ iﬂ'rxx“huﬂF?s:[aLﬁ_.;ﬂJLi4 Jo¥ L F_.f.p(u:/imh.:_..ﬁ i
Note: you have four choices for each objective type question as A, B, C and D. The choice -Jf d'/fh...ulr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will resuit in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) Two linear factors of x> — 15x + 56 are; LGl x> —15x + 56 (1
(A) (x=T7)(x-8) (B)(x+7)(x-8) (C)x-7)(x+8) (D) (x+7),(x+8)
(2) Product of cube roots of unity is: _;_?MBFMI;@LJKF (2)
(A) 0 (B) 1 ©) -1 (D) 3
(3) o 2 4 [3lj is equal to: : il o’ + {32 (3)
" o - p? (B)J—fﬁg ©) (w+p)2-2ap (D) a+p
e
(4) Inaratio x:y,'y' iscalled: ’ _.c..irl.lrr 'y Xy o (4)
(A) Relation u"' (B) Antecedent ﬁad{f (C) Consequent (JJLE,-‘» (D) Proportion _.4:
(5) The third proportional of x* and y2 is: , ?kﬁ“‘v _.;-.....;L-wb’ y A x2 (5)
4 2
A 2 B x°y? © > { :)\ 0 %
:5}' i S ?\Ni\\ -,;_3 X0+ ] (6)
(r—i){r+2) f\_/) (x-1)(x+2)
(A) A proper fraction /=1 _gB)ﬁn?dentlty el
(C) An improper fraction ~_zls ‘"’”,ID”)Aconstantterm rL
(7) The set having only one element is called; -y %‘i,<’ k- -c..t'Uf crd’_ﬂ._:ﬂut'f_.v ()
(A) Null set (b @Sﬁwer set wril (C) Singleton set _.r!} (D) Subset h.,n—;_,f?
(8) If A and B are disjoint sets, tt@m&JB is equal to: byl AUB dunir f// B o A J (8)
(A) 4 (B) B (C) ¢ (D) BUA
(9) Adata in the form of frequency distribution is called: = Ay Jr‘”’ U (9)
(A) Grouped data :ifu'uf (B) Histogram .)J § (C) Ungrouped data :ir'dw';-' (D) Polygon { U= /
(10) The measures that are used to determine the degree or extent ce bl S Fit wlyrseld  (10)
of variation in a data set are called measures of:
(A) Dispersion s (B) Average L~ (C) Central tendency J&577 (D) Domain ¢fss
(11) secO cot® = =secO cotf (1)
) 1 sinf
(A) sinf (B) m € —5 (D) e
(12) Line segment joining any point of the circle to the centre is called: et e Wihe BsLe sy (12)
(A) Circumference k5 (B) Diameter £ (C) Radial segment =#*§T (D) Perimeter b/
(13) Atangent line intersects the circle at: e B myws Ll (13)
(A) Three points ,;w?gf (B) Two points {Ltﬁu (C) Single point z,bﬁ...f (D) No point at alluf’o"x_&ﬂu/
(14) The semi circumference and the diameter of a circle - bty sud)}(ufu)wsrb»‘._wr..f_. 7y (14)
both subtend a central angle of.
(A) 20° (B) 180° (C) 270° (D) 360°
(15) The measure of the external angle of a regular octagon is: il Srtinl, u,-'sljds,d:f ﬁ’ £ (15)
™ % ® % © % © 12

32(0bj)( < )-2021(A)-40000 (MULTAN)



SSC PART-Il (10th'CLASS)
MATHEMATICS (SCIENCE GROUP) GROUP-I b </ (f F) S

TIME ALLOWED: 2.10 Hours SUBJECTIVE L~ Z210 =

MAXIMUM MARKS: 60 M -GL-2 | 60 = Af
NOTE: Write same question number ﬂq.f;;:ﬁ,ig..;.jlr,ﬁzé 6»,-_‘3;?1;1,—,}()49—&;,;48’@:? "y
and its part number on answer book, as given in the question paper.

SECTION-l Ji.»

2. Attempt any six parts. 12=2x6 el & 24 )
(i)  Write the quadratic equation in the standard form: 4D (=== - SLPletidon
(i) Solve the equation using quadratic formula 2 — x* = 7x 2-x? =7x LS dA LG W
(iii} Define exponential equation. ' -é _@fJal:PJUaf (ii(
(iv) Find the discriminant of the quadratic equation. 6x%— 8x +3=0 -ér}*’e;fﬁjs’alsvﬁm f{
(v) Without solving, find the sum and product of the roots of -g‘_f r:"’.,:ﬁﬁ‘f@ﬂu;f Fuju,c"* éf ﬁ&lsvduu W
quadratic equatic,n_ 7_1'2 ~Smx+9n =0 q\"ﬁsz - Smx +9% =0
RO
; ; : g 25 \\'E\f \" - - .
{vi) Find the nature of the roots of quadratic equation. X743 =0 -éé:{y“’rudujué.-,i,p&ﬂn o
9~
N - -
(vii) Find the value of 2, if the ratios ,__\.-,g,'aj}};iefb: 3:402p+5:3p+4 ut-’ff“-:;fr:"’%J "
2p+5:3p+4 and 3:4 areequal (::/
Y ye3s BEAE x W ox=3 w2 y=7 A y=x (i)

(Vi) If yocx ,and y=7 whea'x=3, find * when y =35

{ix) Find the third proportional. (x — y}z. e _1-3 (x - y)z, 2% y3 __jq_’:r:l’“.,fﬁi,é (ix)
3. Attempt any six parts. 12=2x6 Eiferlinge 8 340
(i)  Whatis an improper fraction? ?“;,,dtﬁl:r Aoabd
(i)  Resolve into partial fractions. ¥ =1 x 11 _éﬁ:ﬁrﬁ:}? (ii)
(x—4)(x +3) (x =4)(x+3)
i) f X=¢, v=2z" thenfind xUY XUY Ein y=2¢ x=¢ S iy
(V) If x=¢, T=0" thenfind XNT XNT&Epein T=0" X=¢ S
(vj Define a subset and give one example. b, -ﬂ;;u(u*-:‘af (W™
(vi) Define bijective function. Y ] ﬁ
(vii) Define class mark. é@fb’M b (v
(viil) Define arithmetic mean, iaéu.&!,;d/w;}l-—’ (Vi

(! Define ranage _é_;;,-?[;’;,y (1"



(i)  State theorem of componendo-dividendo.  #¥§ PINJ '('l'l.’ AT POy A YL 2

(i) If ze« xyand z =36 when ép‘” z M y=3 cx=2 w2 2=36 4 zx xyf i

x=2, y=3 thenfind z .

(i) Locate the angle 1352 in x y—plane. - -éﬁﬁddﬁ“ﬂf}‘f 1359 Lol Qn‘f
(iv) Express 60 into radians. —éﬂtﬁc{bf 60° (bl
(v/ Find 6, when ¢=45¢em, r=2.5cm £ =45cm, r=2.5cm ,I-",_{:r}*‘ ) M’
(vi) What is sexagesimal system of measurement of angles? ?g.gflﬁifd l.»iﬁil/h’f _h.;gfu,_{sli }\a-)’
(i) Find » , when § = 45° and £ = S6cm £=56¢ o0 =45° Gt r  pof

(viil) Ina A4BC, find mBC when m<ZA = 60°, mAB = S5cm, mAC = 4cm ,?.u_’)?‘:‘*’ mBC (£ AABC  (viii)

(ix) Divide an arc of any length into four equal parts. -éf:" :;»*ur" A’«ﬂ'gﬁrd ;uau(dutf’ (ix)
SECTION-II (192
24=8x3 =il 9 /mef'@/uuﬂuuw;.df o

NOTE: Attempt any three questions but question Nq.gﬁs compulsory.
5(A) Solve the equation by completing square. SﬁW'Px 0 r"_fJ’ CJJff .ﬂ.r,#:rwle—’ (Jﬂ/

™ 'J\_,/

(B) Solve by using synthetic division, -.dm@@ 1052+ 9= 0341 Z.’Jr"” t,{(.'_w'u (()/

s *./

if 1.and 3 are the roots of the equation ! -{jﬁ,./!: +9=0

«\\" N
& %f"f S eed§ 230, 5438 4 s [l Y L (A6
) p—§ § + 3p s —-3q
~3p , s+3q 6pq
6.(A) By using componendo-dividendo theorem, find the value of = if §=—"-
5+ 3p §—3q p—q
(B)  Resolve into partial fractions gt 11 x* 4 7x 4 11 _J.fyuﬂx/d:f (’r
(x+2)% (% + 3) (x+2)%(x +3)
(AUBY = ANB Zeobin U ={1,2, 3. —+—=sl0} #B={2,3,57}4={135 7,9} /i (Jﬁ
T(A) K4={1,3,57.9}, B={2,3,57} andU = {12, 3, -———,10 }then verify (4UB) = A'N B
(B)  Find the standard deviation of 11500, 12400, 15000, 14500, 14800 E I m/
8(A) Verify that secH +1 _ secH + 1 secO + 1 SecEi +1 _fé & (3.8
secH — 1 tan® sech — 1 tanf
(B)  Draw two common tangents to two -,ri{)‘ WSl 354125 Jluiu;}iu’..:fl.fu’:» (<)

kN touching circles of radii 2.5cm and 3.5cm. /
9. Prove that a straight line, £ r:mf{n :La,:bﬂlu:.f..ﬂ’gf ( 5z )a’ 2) _:w/ c..):f!;a.xh .f.;if = 49‘
drawn from the centre of a circle to bisect a chord (which is not a diameter) is perpendicular to the chord.
OR |
Prove that if a line is drawn .« bsJ/ Ufr_.fi.ur"m‘c.[rif"»“x iy L:slf"_/,hdﬁd 14326451 b..fif;./fui fé b
perpendicular to a radial segment of a circle at its outer end point, it is tangent to the circle at that point.



NUMBER: 3197 ‘ SSC PART-ll (10th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUP-| by -/ (f SO S
TIME ALLOWED: 20 Minutes OBJECTIVE Q:‘:y“‘,.ﬂ? w20 = 2y
MAXIMUM MARKS: 15 MIN-10-Cy- 210 15= AF

feih | MBI QWL r e f WML E s L g 632 w1 LE s D 4 C B A ARl i
/..:»/.Jiru'l f(..kLJu';f’prf_-a:‘U’d.L.; !{}J/I? -fmr"]kb..f.r"uﬁgf_xﬂfz..z.; s 4 -.'../Q,':JJ/JJDLK_.J iJ
Note: you have four choices for each objective type question as A, B, C and D. The choice ../ 20 J’.);-...,ﬂr.v
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(M L=k | then e BaZaj A (1)
v W v w
(A) u=wk> (B) u = vk? () u = wk (D) u =vk

(2) The third proportional of x* and 2 is: p PR A o)
W % ®) x*y? © 2 0 =

(3) Afraction in which the degree of numerator is less than * -r._dlif m(c.dz‘:ﬂ i«/d)’id' LS, L/ (3)

the degree of the denominator is called: (A) An equation =ls»

(B) An improper fraction iy (C) An identity =51/ \H{Bam proper fraction ~/1s

(4) If 4 c B then A— B isequalto: \,Lzlmu A-B  AcB /i (@4
(A) 4 (B) B () ¢ m\? 2\ o) B -4

(5) AU(BNC) isequal to; -<trsz AU(BNC) (5)
(A) (AUB)N(AUC) __iB{L"'i;th(BﬂC)
(C)(4NB) U(4NC) orausuc) )

(6) The spread or scalterness of observation in apg\gmé called: & rii:"?ll:f Ko lalary (6)
(A) Average b~ (B) Dlspersuﬁﬁ y?-‘"? (C) Central tendency ulhdf,—* (D) Percentile .~

(7) Ahistogram is a set of adjacent. . ’1 } = Jﬂ‘:.;f..#—"'u} (1 (7)
{A) Squares ¥U», (E}«R@:}tangles KU (C) Circles KUsih (D) Triangles b’u:””

(8) cosec?® - cot?0 = —————— cosecd — cot2h = —————- (8)
(A) -1 (8) 1 (C)0 (D) tan® N

(9) A complete circle is divided into: ...;‘;.rtgl_ff:"si.,‘vbf (9)
(A) 90° (B) 1807 (C) 2707 (D) 360°

(10) Acircle has only one: —e b Ll e g (10)
(A) Secant G (B) Chord 7 (C) Diameter # (D) Centre /7

(11) A4 cm long chord subtends a central angle of 60° .  —¥n b b - thasli€ 60° ,;}’}}ﬁlbé.u{" a..f (1)

The radial segment of this circle is:

(A) lem (B) 2em (C) 3em (D) 4em . "

(12) The measure of the external angles of a regular octagon is: -q.dmui'Jugledr,géf (g" < (12)

n = n n

(A) 3 (B) 5 (C) Y (D}

(13) The number of methods to solve a quadratic equation are: SR SLL S g (13)
(A)1 (B) 2 {C) 3 (D) 4

(14) Product of cube roots of unity is: -{,..,.A“H’.,A%@LJFF (14)
(A) 0 (B) 1 (C) -1 ()3

(15) If a, B arethe e s¥ 2B 20 Tl g s quar=0 S Boa i (15

roots of px® + gx + r = 0, then sum of the roots 2a and 2P is:

) =24 0 --L

) 2 ®
p p p 2p



Y ANV LTV bYLRAvYg

MATHEMATICS (SCIENCE GROUP) GROUP-| b - u_.:m'ﬁ (.,;;f u;‘ftz) U" L/
TIME ALLOWED: 2.10 Hours SUBJECTIVE ¥L» 210 =
MAXIMUM MARKS: 60 MTIN-1to-G) -0 80 = Af
NOTE: Write same question number -4..@J;¢.:_.{.;'frf£§€' é‘l)ﬁ}}:a}ﬂ/’,}d]fﬁi{qum i f
and its part number on answer book, as given in the question paper.
SECTION-l (s

L1

2, Attempt any six parts. 12=2x6 :‘ll//.,L ?L’.Filﬁc..u .2/

(i)  Solve the given equation using quadratic formula: .,.:..Jw’l UG s .!\.-IJL-‘J ;:»J'J (i)
Bl +x=443 V3x? +x =443

(i) Write the given equation in standard form: ! . 3 -é;fﬁmﬂd@:&im%; (i)

x+4-rx-4

(ii) Define Radical Equation, &Sl (i
(iv) Evaluete @37 + @38 +1 03+ 0¥ 41 Eoed ()
(OM i Do
(v) Find the product of complex cube roots of unity. (\Q‘ _ﬁf-ﬁ_ﬁ& =1 ._,»fflr;.%t’ AL ()
(vi) Find the discriminantof 6x> — 8x + 3 =0 (}\:gﬂ\ -\, 6x% ~8x+3=0 qg‘,{rﬁ"sﬂjj (vi)
(AN
il ) .
(vii) State theorem of Componendo-divideno. NS Sk oIS i)
<o)~
(viil) Find Fourth Proportional to 8, 7, 6 ‘\Q‘J‘; 8,7, 6 - B0y (vil)
W\
,-‘3;5;,:‘5”‘ £l 3
(ix) Findthevalueof » if 2p +383p +4=3:4 2p+5:3p+4=3:4 .fi.élr':l"‘afu P (ix)
3. Attempt any six parts. 12=2x6 el e $f 340w
() Resolve into Partial fractions. ¥ —11 -1 LK Lu 67 ()
(x-4)(x+3) (x—4){x+3}
(i) Define Proper fraction and give its example. -é:d{,;tw-'é_yfd}(._.qh (it)
i) ¥ X=¢ and ¥=z*thenfind X ¥ e XNY e Y=2t 4 X=0/ (i)
(V) Find @ and b if (-4, b-2)=(2,1) (a-4, b-2)=(2,1) z')?giryb"' b a (iv)
(v) Define Into Function. REASY S T
(Vi) Ifset A has 5 elements, then find the number of ,érﬁlﬂd}méﬁu Ming$i5 & Mex fi (vi)

binary relations in As .

Vi) Find geometric mean of observations 2, 4, 8 using basic formula. _éfr"szsl.j.u_ﬁia.mﬁd;géi 2,4 8 =l (vi)
wiil) Define Arithmetic Mean. Sl i)
(ix) Define Range. Zaler (i)



) Convert the angle into radians  300°. M 7""' h'ﬂ}-w 3007 -LZ/Q}J#Z‘E”‘;"J (i)
(i) Find r when ¢=S2em and 0 = - rad ¢=52em 4 0 =" rad Lyl i)
(iii) Define Acute Angle. SIS P i il
(iv) Define Collinear Paints. A PSEsA (i)
(v) Define Tangent. -;,,{f./&jgfdlf’ (V)
(vi) Define Sector of a Circle. -Jf.w}o/ 5L My (vi)
(vii) Define Circumangle. -J)’...J/J,ffw (vil)
(viii) Define Circumference. - U..ﬂjdl.! (viii)
(ix) The length of each side of a regular octagon is 3 cm. LSS e 3dqu”£u‘?"’.f (ix)
Measure its perimeter.

SECTIONI (.2
24=8x3 e 9ImFE el etvda df -2
NOTE: Attempt any three questions but question No.9 is compulsory.
5(A)  Solve the equation /3x + 7= 2x + 3 A Bx v T=2c 4 32ble ()5

(B) Prove that x3-.—y3+; -3z =(x+y+z)(x+oy+w z)(r+e)2v+mz} ,J’gg..-..-_'f (<)

na'\___',l 3
o X= c-"’...fg, x+2y ":\L"'J' .;ﬁa./utrflJU. :JJJ?' ()-8
e x - ﬂf‘w - 2_
4
6.(A) Using Theorem of Componendo-dividendo find the valu@ o) Eﬁpr"’ X422 g x=—2
\ X - "y x = 2z yraz
z,-"’b;\/ :
(B) Resolve into partial fractions. L 4“}1 . 3+ 7 -g‘i';ky ufxrﬁ,-?:‘ (<)
.lr %Aﬁ‘(hr-:-.:-) (x*+D(x+3)

B «’@,\3 o WA AL 7.9 b U={12345678910} /1 (J).7
(ANBY = AUB it
7(A) f U=(123,4,56,789100, 4=(1,3,579) andB={23,57}
then prove (ANB)Y = A'UB
(B)  The marks of six students in mathematics are as follows. -q;?:'“’.:.; 2 -uggjji&,;;ﬁﬁuy".,iwg u.‘o"p (o)

Determine variance.
Student No. 1 2 3 4 5 6
Marks 60 70 30 90 80 42
8(A1  Verify the ident 1+sin® 1-sin@ = AvanBsech é-&f.;fbf( )-8
{A)  Verify the identiy 1—sin® 1+ sind e b
(B) Circumscribe a circle about 4 dLJJ C,j" ‘.':JU/..‘.AU’_;‘.&J}’J;“'UE/ ABC &LLid.  (Q)
an equilateral triangle 4BC with each side of length 4 cm.
g Prove that a straight line, drawn &bty BB S () :;,v/ eIl o S et -9
from the centre of a circle to bisect a chord (which is not a diameter) is perpendicular to the chord.
OR |
Prove that the opposite angles of AL e NS ;d_'_si.?.l,rﬁffids;[,f:f'-’)g(; }i:ﬁg,g;.;b

any quadrilateral inscribed in a circle are supplementary.

R e e 1 (BT g B VLY



NUMBER: 3194 l SSC PART-II (10th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUP-II </ (o ) Fu
TIME ALLOWED: 20 Minutes OBJECTIVE Q:’sf"’,-a?' w20 = =
MAXIMUM MARKS: 15 M TN -10-G3 - 20 15= AF

A b IAhise el nerna Wi ésie v E v g J60n J&"L; D s C B A=l vy .oi

«'-y',’{-;“"b” —f&b‘-?bﬁf‘.\jiuﬁ-—rlﬂ&d-/—i )':,Juh -b’mﬂﬁ-u i20ads JHJJ‘J.{_.J":; Sy L.fyu:/'.!nl.h:‘_--— = id]
Mote: you have four cholces for each objective type question as A, B, C and D. Thn choice -2V ,J:-._.mr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded In case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A ANy
(1) Theset{x/ x € wAax=<101}is -¢.tliv-/{ x/xewaxsl0l}or (1)
(A) Subset ...g-[j” (B) Empty set 2~ (C) Infinite set 2§34 (D) Finite set Lo(its
(2) If number of elements in QeI Su088 Ax B ix 2 £ B 2o 3 05SKAA A )
set Ais3andinset B is2 then number of binary relationin 4 x B is:
(A) 23 (8) 2 © 2* o 27
(3} Ahistogram is a set of adjacent: I---*c...u""..-'dJ ¥ (3)
(A) Rectangles U+ (B) Squares ¥U»l, (C) Circles §Us 71 (D) Triangies bu?j"’
{4) The extent of variation between two extreme observations - db JJ’ n;uuf.ﬁ._'udl.? L};Irff; :._5'( (4)
of a data set is measured by:
(A) Average L~ (B) Quartiles 47 (C) Range = (D} Percentiles .« s}
(8) cos 00415" = « \j - sls ;cosec‘lso (5)
® ® 55 © fm\xﬁ’; —3
(6) Locus of a point in a plane equidistant from a fixed -.r.,gllf g“ﬁ\ un..".";bﬂ.cc..&# :‘..r A (6)
point is called:
(A) Radius 1y (B) Circle »70 (Oi,ﬁs\”rdﬁfjnference £ (D) Diameter #
(7) Aline which has only one point in common with a m@g\&ta!ted -2 n PN AL KB )
(A)Sineofacircle sine ¥—n . L0 l‘{éu) Cosineof a mrcie Cosine ¥’
(C) Tangent of a circle  Tangent &’,.ﬁm@ " (D)Secantofacircle Secant ¥ Ji:
(8) A4 cm long chord subtends a central B L e e bl 60° .;,C»,,w,duf 4 L (8)
of 607 . The radial segmenthﬁQ-circle is:
(A) lem (B)-Zem (€) 3em (D) 4em
(9) The measure of the external angle of a regular hexagon is: _a.u Jfﬂ’bufligdggihf#}/ i (9)
A %4 ®) 4 © Vs o %
(10) Standard form of quadratic equalion is: ..r‘_ur’ ;,F:Lvd'-.“-«F:LJ'Juu (10)
Abx+c=0,bz20 (B)ax’+bite=0.a%0 (C;c.u =hbx,a®0 (D) ax*=0, cz#{}
(1) ¥ o, [5 are the ¥ 2B 20 e {routs)wn;..pr Fgx+r=02b p oo & A
roots of px tgx+r=0, then sum of the roots 2 and 23 is:
= —2¢ -4
(A) — (B) = (C) » ) 5 2p
(12) The nature of the roots of equation -v;z_zr:"’c_ )’rL—"i,-,j;_. Wl ax® +bx+c=0 el (12)
ax® +bx+c¢ =0 s determined by:
(A) Sum of roots «»¢ E’JL (B) Product of the roots o A} ¥
(C) Synthetic division (“ ._£' y, (D) Discriminant ,;‘-"J)
(13) Find X in proportion 4+ x::5:15. L X L 4ixnS5005 «F (13)
(A) E ® = ©3 ) 1%
3 4
(14) If wo v’ | then: 2 ouevi /S (14)
B) u=1v2 (B) u = kv® ©) uv? =k (D) uv® =1 :
(15) i+ s: s b k1. (15)
(x=1)(x+2) ST T (x=D(x+2)

(A) A proper fraction ~—z2ls (B) An improper fractlon /...-:f:,-*

Ty A 2ud membile s IJ'l » MYt B s s il R n



ool FARI-I{TVIN LLAOW)
MATHEMATICS (SCIENCE GROUP) GROUP-I - ef (f FO S
TIME ALLOWED: 2.0 Hours SUBJECTIVE ¢l £210 =
MAXIMUM MARKS: 60 MM TN-to -Gy - 20 60 = A
NOTE: Write same question number ..a‘-_c;u:;_,‘:.'%.,;,glrf :”Z; 6;:/,}::«3;11/,".,]&&:.;(& Kz i
and its part number on answer book, as given in the question paper.
SECTION- (i

2. Attempt any six parts. 12=2x6 Efemrlimged 240y
(i) Define Exponential Equation and give one example. & Jofing ..s*/‘gf...htxJU..J (i)
(i) Write the quadratic equation in the standard form. e -t .t Y. -é}fucpwjyf_-,l,pd,m (it)
X + X
(i) Sclve the equation by using quadratic fermula, 4x? ~3x-14=0 -._;fd‘.:_uJ Uit (i
(v) Find the discriminant of quadratic equation. 2% +3x=1=0 R V- O VO )
(v) Evaluate. (9 +4do +40°) A9+ 4o + 4o’y Eed (V)
\”"’ ’

- (0) :

(vi) Without sclving, find the sum and the product of ﬁ:‘%b M ener F’ﬁxﬁéwfw"b‘@ﬂ-”d" g (Vi)
the roots of the given quadratic equation. x% - ?ffrﬁ\ ,ﬂj
(vii) Define Direct Variation. (&9~ ~£-J‘ftfv"-’f (vi)
(i) Express 4kg, 2kg 750 gm as ratio a : b \@%w‘kp o ab e 4 150 08 2 i
(".""
and as a fraction in the simplest form. <‘;~\/ _
(x) Find the fourth proportional to §, 8, L g 8, 15 -éryt“.;rt;iig '(ix)
3. Attemptany sixparts. (7 12=2x6 -_é;f:.ygévm{;df 34w
a.\;‘-‘f

; V23 Tx - :
(i) Resolve into Partial Fractions. ;:-— uﬁ-(-—x— T3 ) ( -7 4}{ ui.«/ Wz ()
(i) Whatis an Identity? tednfel (i)

T o - f
(i) ¥X={1,4,79}and ¥={2,4,59} D&M Xuy » Y={24,59} #X={L479}

then find X UY

(iii)

(iv) Define an "Onto" function. -,5‘-41‘/"‘5 il (i)

(v} If X =ia,b ¢} thenfind number of elements Z E (PR Sl xxx I X={abc} S
in X=X

Vi) If L={ab,ec} and M ={3,4} -._-;é}#@m&tfuéz « M M ={34}4L={a,b, c}ﬁ (vi)

then find two binary relations of L x M

(vil) Define Class mark é..ﬂﬁ.furﬁﬁf‘u (v
(viii) Find the arithmetic mean. 12, 14, 17, 20, 24, 29, 35, 45 Ll (vill)
(i) Find the modal size of shoe for the given data: Pl vd ,‘—_p{fwf_xuéwmfu (ix)

4,4 5 5 6,6, 6 7 7,575 82828656357



o S e TR T C me md 4-10’*’“;‘ WS e gl T

i (i)  Verify the identity (tan® + cot6 )tan® = sec?0 (tan@ + cotd Jtan® = sec’0 -/ H*IJV (i)

MTN-10-Gy ~y0

(i) Find '£' whenr =4.9cm and 6 = 180° B =180 r=49em .ﬁdﬁP’JJ AN (1)

(i) Whether the triangle with sides e b AL M i P onlf 2 8 £ T o 5 Ll sl (i)
scm, 7em, 8em is acute, obtuse or right angled triangled?

(iv) Define diameter of a circle. SISPEL e (W)

(v) Define arc of a circle. -ujzf_g ﬁJJEJ.:_}b {v)

(vi) Define tangent of a circle. -J/_»f-u’ WL e My (vi)

(vil) Define cyclic quadrilateral. IS A (il

(viii) If mAB =3cm and LI T uns & 3l BC 4 4B i (viii)
mBC = 4cm are the lengths of two chords of an arc then locate the centre of the arc.

(ix) What is meant by Geometry? Sl $X (i)

SECTION-Il £
24=8x3 i O el et Fe §f o
NOTE: Attempt any three questions but question No.9 is compulsory.
5.(A) Solve 4x=_[13x+14 -3 4x = .“,13,1 +14 -3 égf ()5

)
(B)  Find the value of k e AL Pl oA uL 20 xS e Tk = 0 et/ Epedfe ()

if sum of the roots of the equation 2 x? - 3x + 4k = 0 |sfr}moqﬁe product of the roots,
«'i:\}
6.(A) aoc;% and a=3 # b= - 8 ?{g‘;‘.’fﬁ’ a«wb=4 2 a=34 auc}:? (.6
,.rf

when b=4.find o, when h=8 (| {}Cf
r' ‘\li'

(B}  Resolve into Partial fractions. fﬁ“\;{r 284 2 Ll -_4@.’.", Erbz (2
Qe +2)(x+ 1) (3x +2)(x +1)?

Amsum={.4nmuuﬂc;,g:.:.r,'e.:fiffx C={1,4,8} B=124.68}.4A=(123,4, 5,6})’[ (.7

T(A) f A={1,2,34,56}, B={24.6,8) and C={1, 4,8}
then prove the identity ANBUC) = (4N BYU (ANC)

(B)  Calculate variance for the givendata: 10,8, 9,7.5,12.8.6,8,2 /e bwds, (L)
8.(A)  Verify idenity. AL . 2cosech -i..f/r-'l-'.ch ¥ (Jh).8
sin@ I + cosb

(B)  Circumscribe a regular hexagon about a circle of radius 3 cm. .uf’t;ux{/g’ /UJJI (3 Lﬂub’e_}h..ﬁ (o)

g, Prove that perpendicular from the centre of a circle on < IS W mg ;-.f/&..?hf._:,{ o -8
a chord bisects it.
OR | _
Prove that any two angles in the same segment S lef s Lo sifE

of a circle are equal



PAPER CODE 2019(A) M /\{ | 96 /fi}w

NUMBER: 31 95 SSC PART-lI (10th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUP- b - (f SO

TIME ALLOWED: 20 Minutes OBJECTIVE (&2 2220 = h

MAXIMUM MARKS: 15 15= AF
S ch b SAh ISl 2 B AL s WL ra g §W7 L&D 4 C B A =2 S i

saedrn KBt e S g sty Ens zsdd S8 S Sk | LS nimsie L) -
Note: You have four choices for each objective type question as A, B, C and D. The choice ../ S =ty
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) Line segment joining any point of the circle to the centre is called:- ...;.-_rll:‘iﬂ.-b"w;i. uf}‘}c_.ﬁdr Le it (1)
(A) Circumference L (B) Diameter & (C) Perimeter bb! (D) Radial segment b1,

(2) Aline which has only one point in common with a circle is called:- & S FEILLGA AL K/ Bk ()

(A)Sineofacircle  sine b 70 (B) Secant of a circle secant e /s
(C) Cosine of acircle  Cosine ¥ /i (D) Tangent of a circle Tangem b 1
(3) A pair of chords of a circle subtending two Lur LA E e Ui nf.fdf,-'g. L (3)
congruent central angles is:-
(A) Congruent fu (B) Incongruent Ji=# (C) Over lapping @ (D) Parallel (17
(4) The measure of the external angle of a reguiar octagon is:- xé.-m.wuuy.adw!. J‘?’ e (4)

(A) = (Bl (2 (D} B
{5) The number of terms ina fﬂ@ﬁ\%@;.ﬁ ax® + bx +c= 0 el Sibas S (5)

standard quadratic equation ax? +bx+c=0 is-

") 1 ® 2 \(} © 3 © 4
6 If b% ~dac <0 é%f’,_ﬂm.m +hr+c=0 opdt b2—4dac <0 S (6
then the roots of ax> +bx+c¢=0 a .f'\‘\‘
(A) Imaginary :?,é al Jt (C) Irational u"t/ (D) Natural numbers P

MK a.p ﬁ\&ﬁfm,i}‘ub’ 2B w20 :wa.-[_' 2 —x—-1=0 ztls P ca A (7)
are the roolsof B e —%‘-’then product of the roots 20t and 2P is:-

(A) = (B) — )4 (D) 2

(8) If a:b=x:y thenalternando property is'- Ayl aih=x: yA (8)
I XY @2 @ 2=2 @ 2=

X y b 4y x % b y
(9) Inaproportion a:b:c:d, a andd ..ulekrd soap a:buc:d € (9)
are called:-

(A)Means 23  (B)Extremes o2  (C) Third proportional €14 (D) Fourth proportional w5,

(10) The identity e ( Sx +4)2 =25x7 + 40x + 16 =L (10)

(5x+ 4)2 =25x% + 40x + 16 is ture for:- _

(A) Onevalueof x L Ll=d (il * (B) All values of x d_z.ur’ oS x
(C) Two values of x LLuitnf x (D) Three values of X .d.r..._;r’uﬁf X

(1) f 4 B then A - B is equal to- tnde A-B A BS (1)
(A) B (B) 4 (C) ¢ (D) B-4

(12) (AUBUC isequal to:- e bz (AUBUC  (12)
(A) AN(BUC) (8) (4UBNC (€) AN(BNC) (D) AUBUC)

(13) The most frequent occurring observation in a data set is called:- -.;.JLHZ&I:L.T.E;»LJG...,.»UC::M (13)
(A) Mode ok (8) Median _t-s (C) Harmonic mean b-+#£74 (D) Mean kil

(14) If tan@ = 3 ,then @ is equal to:- B=__ 3 am@=v3 S (14
(A) 90° (8) 30° (C) 45° (D) 60°

(15) sec?® = sec20 = (15)
(A) 1-sin0 (B) 1 + cos’® (©) 1 +1an’0 (D) 1 - tan®0

30(0bj)( I I Y7 )-2019(A)-58000 (MULTAN)



2019 (A) MN-1T4] )

SSC PART-II (10th CLASS)
MATHEMATICS (SCIENCE GROUP) GROUP- b -/ (S P dL
TIME ALLOWED: 2.10 Hours SUBJECTIVE @2 10 =
MAXIMUM MARKS: 60 60 = Af
NOTE: - Write same question number -g,t-,ng,,t;_{.glrﬁ_é (-,n,-,”,zm/?dnrm.;qn}m dad

and its part number on answer book, as given in the question paper.
SECTION-l Ji.o

2. Attempt any six parts. 12=2x6 _ég fagliﬁlzf{;‘;f -2/.{Jlr

() Define Reciprocal Equation, Gl et ()

(i) Write the equation in the standard form, s : s S gt (i)
X - X

A edfap? +aBin (Roots) VUL 22 4 mx+n=0, (£20) < B« a i (il
(ii) e, B arethe roots of the equation £x% + mx + n =0, (£20),
then find the value of B2 + o 2p3

r’_,f:'\
D)
20 +1, 2B +1 Jé_-t’:;'bﬁ»u:.u%i.ﬁé:?uﬁ (Roots) t.)ﬁ-ui Zé??f “5=0 ebbp (iv)

(W) If o, B arethe roots of the equation, 2+ — 3x — 5 < 0 fgmy@i}ﬁ&dratic equation

having roots, 2ct +1, 2P +1 RO
(CA
{\;'/Q.CQ
| — NS 3 =
(v) Solve by using synthetic division if 2 is ,--;@uh - 28x + 48 = 0 olsle 2" 1 i -5{ J’r':’ &'}44 (v)
the root of the equation x> — 28x + 48 =0 étvl:"
II, \ h
A

# (Y
a?, g2 hg\@(ﬂooﬁ) u%;iz__:ﬂ-_:x (Roots) Pl x2 + Pr+g=0 ahisp o J (vi)
(V) If o, B are the roots of the équition x2 + px + ¢ =0 , form an equation whose roots are 2, 2

(vii) Find a third proportional to ( x — y)? . ¥¥ — 43 (x-p)%, 2=y G/ 47 il

(viii) IV < R and p—s5

el K M R=3 2 vas rvaepd S (vii)
when R =3 thenfind the value of X -

(ix) Define Inverse Variation, I mE ()

3. Attempt any six parts. 12=2x6 Efenlinge §f 340y

()  Define Rational Fraction. -EJ/E/J‘: (i

(i) If4={0.24}and S Bx A JAXB jeB={-13} , 4={0,2,4} f (i
B={-1,3} thenfind4x B and Bx 4

(ii) Find @ and b if (3-2a,b6-1) =(a-7,25+5) S b woa i

(iv) Define a Function, EMF )
M WX={L47.9} and  _LoxUYs xnr Y={24,59}4x={L4,7,9 1 «
Y=12,4,59} thenfind XN¥ and XUY
(Vi) Find the geometric mean of the observations 2 4, 8. AL L2 48 o (vi)
(vii) Define Standard Deviation, ) 'éui'ﬁb'v'id b (Vi)
- ¥ - 4 . P it J-
(vil) Find arithmetic mean for the given data. 12, 14, 17,20, 24, 29, 35, 45 Sl ey (il

(ix) ‘:\'rrite l?:e f;:n‘nulae to find median and mode from grouped data. -u:’iL 6L Lﬁ#’askﬂwﬂsc_:rﬂfs}’ (ix)
4, 3 I =



(<]
dempt any six parts. 12=2x6 _§!f¢g|g£+;z|,f;_‘j,’ ..4/'.’U|r

Define Radian measure of an angle. -é..efu:;;fi wati Q)
; Find 6 ,when r=25m, /=45m t=45K =254 .ég‘;}}*‘-e (i)
i) Define Obtuse Angle. EF e (i)
(iv) Define Chord of a Circle. L A WLt ()
(v) Define length of a tangent to a circle. ..g{ o /"J JUJ’JUL;. M)
(vi) Define segment of a circle. -_'é_i_if&fi:.-ﬁ (vi)
(vii) Define Circumangle. Eaflaure (i
(viii) Define a Polygon. oA (i)
(ix) Define Escribed Circle. Efhmde ()
SECTION-II (2.2

24=8x3 -l Sﬂdlm?hé;/‘ayﬁ&awrdc.df oy

NOTE: - Attempt any three questions but question No.9 is compulsory.
5(A) Solve the following equation using quadratic formula:- ESe S LG adetionize (I)-5

6x2 -3-Tx=0

(B) Prove that x3+y3+:.3—-F-xyz=(.r+y+z)[x+my+uazz}(x+m1+<nz) S (9

6.(A) Using theorem of componendo-dividendo, solve the equation -L,;/J;,m,-ﬁm‘_/dm;w:“i?_f e ()6

,,‘x+3+,|'x—3_i {?r\%\
Jx+34\fx—3,_.-@ =

~\O
o“’?\.\. .

Tx+4 ’E}f\%}}f Tx + 4 -bfjvtb-b“"/d’z »
Gr+2) (x4 IV (x42)(x+1)

NS
&

AN(BUC) = (ANBYUMANC) -/t Ol 4830 B= (24,68 }d={1.22.45.610 (07
7 K4={123456}, B={3%68}

and C=1{1,48} Q‘TS@' ve that AN(BUC) =ANBUANC)

(B) Resolve into Partial Fractions.

(B)  Find the Harmonic mean for the following data:- LS wZ S fizer ()
Classes =Lz / 3/ No. of students Ur /b
33- 40 28
41-50 31
5160 12
61-70 9
7-75 5

8(A) Prove that Sin’0 = Sind — Sind Cos’0 Sino = Sind — Sind Cos% JE =t ()-8

(8) Inscribe acircleinatriangle ABC  with sides. G b ABC & ()
| AB|=5cm, | BC| =3cm, |CA|=3cm

Prove that a straight line drawn from -.lal'm!f{fjh..&ﬁ!":i_f_i:‘.'y (i) e fplemf@et 9
the centre of a circle to bisect a chord (which is not a diameter) is perpendicular to the chord.

OR | )
Prove that any two angles in the same segment of Sl s Eu:fghgﬂs?h.-b;ﬁ.gﬁd_-ﬂifémb

a circle are equal.
30-2019(A)-58000 (MULTAN)



PAPER CODE 2019 (A) MN-AeE )

NUMBER: 3196 SSC PART-lI (10th CLASS) \
MATHEMATICS (SCIENCE GROUP) GROUP-II ey (o) F) &
TIME ALLOWED: 20 Minutes OBJECTIVE g"‘if’,n? w20 = =
MAXIMUM MARKS: 15 15= AF
S b L SN IS I L R s S P s LS JEIR gL Es D sl C B A M2l e

2aq-drut Kbl LA 2 a S Lo Kty MnmPi i life i §ESL Sa¥ | L nimie Ll -2
Note: You have four choices for each objective type question as A, B, C and D. The choice -] So et
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles, Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) fa:b=x:y thenaiternando property is:- e uiin azb=x:y AW
we=2 ® == @b xty =P X2)
x y by b ¥ x v
(2) if a:b=x:y  theninvertendo property is:- -{...:»_-’Lfgin a:b=x:y A (2)
wa=2 §t=t 2tb. 2ty 2.l
Y LA A - S
(3) Partial fraction of e T are of the form:- e (1 :{}j‘%d b2 e e D) 3)
WA, B ®-Ax , B oy -4+ BxTL;;},{m Ax+B _C
=1 x+2 x=1 x+2 x-1 \i: x=1 x+2
0O
(4) Point (~1, 4 ) lies in the quadrant 1 n cmpl (-1,4) B @)
(A) 1 ®m N (D) 1V
(5) Ifnumberofelementsinset 4 - sl AxB w2 2B era 3050002 4 2/ ()
is3andinset B is 2, then number ofbin?q tishs in A x B is-
(A) 2° e 28 qg\gj ) 2° (D) 2
(8) Mean is affected by change in:- K¢ \jv *q_t'ﬂ;ﬂ'c_a:_./d_f bl (6)
(A) Value =F (B)Rafio =’ (C) Origin &7 (D) Proportion o
(7) The union of two non collinear rays, which have common et ol e P P N e T )
end pointis called-  (A)Anangle .« (B)Adegree dﬁ (C)Aminute =+ (D)Aradian ¢/ 4
(8) sec’® = sec20 = (8)
(A) 1-sin’0 (B) 1+ tan"0 (C) 1 + cos20 (D) 1 - tan”®
(9) Locus of point in a plane equidistant from a __Lrﬂ-;f ___,w.;JwE.rI;;,J;bm’;u.g—ﬂérm'.dP (9)

fixed point is called:-  (A) Radius i, (B) Circle +/6 (C) Circumference & (D) Diameter y
(10) A line which has only one point in common with @ circle is called:- < bl e SEELSAA L Sl (10)

(A) Sine of acircle  Sine b 71 (B) Cosine of acircle  Cosine ¥ /1
(C) Tangent of acircle  Tangent K /s (D) Secantof acircle  Secant §e 71
(11) A pair of chords of a circle substending two congruent L pAwpEe u;E;,-:u’-g.:i.:Jf/J‘U-'u (11)
central angles is-- (A) Congruent J&  (B) Incongruent J+¢  (C) Over lapping /1> (D) Parallel (717
(12) The length of the diameter of a circle is how many times the Yg..ljﬁi:-’i:":d:u"'u.f.g. wdEBLmdl  (12)
radius of the circle? (A) Onetime {i (B)Twotimes 3 (C)Threetimes bf (D)Fourtimes &
(13) An equation, which remains unchanged e et iStn Vo BE x Blebw  (13)
when x is replaced by /, iscalledalan-  (A) Exponential equation =ii-(iAs?
(B) Reciprocal equation ;m-‘;,r.-f"’ (C) Radical equation =\i+J.% (D) Quadratic equation =l
(14) Product of cube roots of a unity is:- e ALK Sl (19
A) 0 (B) -1 (€) 1 (D) 3
as) L1 _ entel us
e B o B
WL e (gt o) &2 B
o o P B

o
32(0bj)( ¥ T I)-2019(A)-36000 (MULTAN)



2019 (A) MN- 11l

SSC PART-!l (10th CLASS)
MATHEMATICS (SCIENCE GROUP) GROUP-I -ef (f e,
TIME ALLOWED: 2.10 Hours SUBJECTIVE .{L» £a10 = B

MAXIMUM MARKS: 60 60 = A
NOTE: - Write same question number -{...é,.«:uig_,;._llrfzgﬁ f-,;m}sl?u*/,}dlr‘dh;dfdiﬁ il
and its part number on answer book, as given in the question paper.
SECTION- JiL.e

2. Attempt any six parts. 12=2x6 ,_éj.;uﬁilzuga.éf *2/:U'f
(i) Write down the names of two methods for solving quadratic equation. -u:'f*téuﬂ Il e S W oG i)
(i) Solve by factorization. x”~ x =20=0 - x-20=0 ES§f2i (i)
(ii) Evaluate. (9 + 40 + 40 ) (9+40 +40? ) Lylked i)
(iv) f o and p arethe roofs Eredf o p? Il 4x% =5x+6=0 b p Aa S (W)
of equation 4x% - 5x + 6 = 0 then find the value of a?p?
(V) Prove that the sum of the all cube roots of unity is zero. A (A VO
)
(vi) Using synthetic division, find the remainder and quonent when \J.' .ﬁwr}"...’-’J"l,mdt.:.MJ,‘" f =7 (vi)
(x° +3x a-iﬁ}th' 2)
(vi) Define Proportion. i & A (i)
\{\. L
"{O.J ~
(vili) Find the value of 'x' if ( 3;\'@) 42 (2x+3):7 Sy fedd e i
(i) Find the cost of 8 kg mangoes if 5&1}&@9&5 eI ur 8 e 250 ASurp s S ()
cost Rs.250. N . ,
3. Attempt any six parts. 12=2x6 ..é;f.:'glﬁcg}’.’i.g’a.d{ 34y
()  Define Proper Fraction. .,4‘13};(/.,4!: i)
i) ¥x={1,479}and Lo XUY ey 24,59} x={L47,9}/ ()
¥=1{2,4,59} thenfind XUY
i) WA={ab} and B={c,d} S axB mB={c,d}s A={ab} ) i
thenfind 4 x B
(iv) Define a subset and give one example. _é,._}r»_.ﬁuuig Af-fd'? (iv)
(v) Write allthe subsets of the set {a, b } -4‘5—:6’;%?& {a.b} or V)
(vi) Define Standard Deviation. ke i
(vii) Find Arithmetic Mean by direct method for the following data:- EePaotintitne. 3 /0 (Vi

12, 14, 17, 20, 24, 29, 35, 45
(viii) The salaries of five teachers in rupes are as follows. Find Range. -é'r}*‘._-r ,JJJL;: (u:uiu }u'if.f.,s Lfléi. {viii)
11500, 12400, 15000, 14500, 14800
(i) Define Mode. ' LAl @
( '¢.|J J.ﬂ )



4., Attempt any six parts. 12=2x6 L fenling § a4y
() Define Angle of Depression. -éJJ/UJu,,u (i)
(i) Express angle 315° in to radians, gt d il 315 Gy
(iij) ~Define Acute angle. sﬁ'._g,»'i{_.,lmb (i)
(iv) What is meant by Collinear Points? e e bBBA  (iv)
(v) Define Secant £ .y/‘-ifﬁbl: (v)
(vi) Define Arc of a Circle, LA (i)

(vil) Differentiate between a Circle and a Circumference, -gmw)ucgﬁmm.;mg {vi)
(viii) What is meant by Perimeter? SeslpUe db! (vl
(ix) Define Circumscribed Circle. Sy (ix)

SECTION-Il 1.0
24=8x3 - Uil 9B el b §f o
NOTE: - Attempt any three questions but question No.9 is compulsory.
5.(A)  Solve the given equation by completing square. 3+ 7x=0 -giJc.d/dff.-vanﬁ; ()5

6’5‘-#(""'-"!-(0. + p? -'Um.;!ﬂ: x? +px+g=0 <h B o ()
(B) If @ . B arethe roots of the equation x> +px+g=0 thenevaluate o2 4 p2

n=6 ._.:L,l‘/?ﬁ'm M on= 4 8m=2u muc— ﬁu.%Pgt:{Jﬂsﬁ m L(,f.'J:.mm ()6

I & L 432 2
6.(A) mm—emdm 2,when n=4, find m when n= 6andﬂnid»»when m =432

(B)  Resolve into Partial Fraction, ¥ = 2X°— 2 N ,/\“ } EL?E‘___ IR S5 ()
TSI 7 P
ﬂ--‘fo’ﬁv
W B={1,4,710 }m\\{:\’{l 3579} « U={L23,4 - 10} A (g
TA) HU={1,2,34 ——n_ 10,}\‘?«&«-{13579} B-A=BNA Sylet
and B = {14?10}MM13 A=BNA
(B) The Fnllomngdatamlatesto maagasaf AU 2 WSS LSSt (L)
children in a school. Compute the mean age.
Class Limits (712 Frequency i
4-6 10
7-9 20
10-12 13
13-15 7
Total 50
s 1+Cos®  Sinb _
8.(A)  Verify the identty. S0 Ty oy = 2Cosectd el ()8

(B)  Circumscribe a circle about an equilateral n 4 JLJJ &qﬁwfﬁ;f’haﬁsfvb’ ABC alf gl ()
triangle ABC with each side of length 4 cm,

9, Prove that if two chords of a circle are congruent -Luﬂlﬁ'ldsl-'c..f{fnbmf U‘B!}ﬁgﬁ:ﬁfg{ﬁl‘ -9
then they will be equidistant from the centre.
OR | )
Prove that any two angles in the same segment of L daffl nOnfraB§ Lirg sifE o
acircle are equal.

32-2019(A)-36000 (MULTAN)



MATHEMATICS (SCIENCE GROUP) (/0 Cu

GROUP-I gt
TIME ALLOWED: 20 Minutes OBJECTIVE L’.”/“““? 20 ==y
MIAXIMUM MARKS: 15 15=4F

LB A S M3 I L e ne fusmd bsib C v ,q..;Qfdi.ﬂ_wé&._-:DnlCrB-A.:-ym;f;kﬁd*r,:-ub)

-;,{f-.‘rurfﬂubL'“'F-(.aga;.gl'fd{-fi.HJJ/JIJ@J!‘JLf;.ﬁfu:fl;-fxaraw?lﬂnfiJa;ﬂJLf.{/él‘LL/{fwﬁmLJ

Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct; fill that bubble in

front of that question number. On bubble sheet, use marker or pen to fill the bubbles. Cutting or filling two or more bubbies will result in

zero mark in that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be
awarded in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER .

Q.No.!1 AU

(1) A fraction in which the degree of numerator is less -« i wledSe s 8RS D

than the degree of the denominator is called:

(A) Anequation =i~ (]'3) An improper fraction /215 ¢
(C) Anidentity =SV L#B7 A proper fraction A als
(2) The number of elements in power set { 1, 2, 3} is . -adx:lﬂtfu"ﬂa’-:v-*‘»lﬁ{ 1,2,3} @
(A) 4 (B) 6 ) 8 D) 9

®) 1 ©) IV o)
(4) A grouped frequency table is also called: [«B/ q.rlhfdmd;ﬂw»f 4
(A) Data iy Frequency distribution et

(C) Frequency polygon ({uweun2»# (D) Cumulative ﬁ'equency distribution 2GS

(3) Mamt (-1, 4) lies in the quadrant: -etnflA-1,9) B (3)

(5)  The union of two non-collinear rays, which et g(m.f LUt A Fn  (5)
common end point is called: N
X) An angle . (B) Adegree (/3 (C) 4 rfjli'nﬁe 2 (D) Aradian 4.
(6) The symbol for a triangle is denoted by: ARV e Lb S blat  (6)
(A) < (B L1 Y ) A
(7) A line which has two points in common mﬂQ g _) BLunS e Lol Skl (D
circle is called: NS
(A) ~Sine of acircle  sine¥ 71 («‘,L\'"\'f{f?f” (B) Cosineofacircle cosine¥e /i
Secantof acircle  SecantfeJix) A (D) Tangentofacircle Tangentées

(8) - A pair of chords of a circle subt two -Lus_ RATepZauimd eSS pJ e (8)

congguent central angles is: (1)
ongruent S @ Incongruent Ji 2 (C) Over Lapping /1> (D)Parallel (i
(9) The length of the diameterof a circlé i is_ el LumlemdddBlem i (9

times the radius of the circle: )
(A) One [ (B) Two » (C) Three £ (D) Four

(10) The tangent and radius of circle at the point of e LS s Wi (10)
contact are: }ﬂ/ =
(A) Parallel s> L (B) Not Perpendicular (a4 ¢ (OrPerpendicular 2:5f; (D) Collinear il
(11) Anequation, whlch remains unchanged when e WAL el f&”l Lo L fathrns D
“x” is replaced by — is called a/an: > %

(A) Exponential Equaunn el t‘B’) Reciprocal Equation =tleys®
(C) Radical Equation -_-I.!I..Jljur (D) Quadratic Equation = I:L-dm:

(12) Roots of the equation 4x* — 5x + 2= 0 are: Bl A - 5x+2=0as  (12)
(A) Irmational  Jt2 imaginary &4 (© Rational (Pt (D) Natural (.9
(13) Prodact of cube roots of unity is: e S L8 (13)

1 ,B) 0 © -1 (D) 3
(14) The thlrd proportional of x* and y* ;5'5 e VLAY six (14)
(A) (B) x }( 4 D) 42/
J" x" A A / x4
(15 1f % = % , then componendo property is: e }'?x% = % Si Qs
(A) a-b_c-d ® _4_ __¢ © ad p o
b d a-b c¢-d be a+b c+d

MUTN- 192 1= §  3000b)(% % )-2018(A)-5000 (MULTAN)



SSC PART-I1 (10™ CLASS)

MATHEMATICS (SCIENCE GROUP) (¢ /) S

GROUP-I U
TIME ALLOWED: 2.10 Hours SUBJECTIVE .2 &2.10 =23
MAXIMUM MARKS: 60 60 =7 F

NOTE: - Write same question number and its part T 1 A Y
number on answer book, as given in the question paper. ;;ergébu/;zﬂ /')d r(ﬁ:.;c}b’t}m ;

SECTION-1 il

2. Attempt any six parts. 12=2x6 iz linge i 2 )y
(i) Solve 5x*=30x by factorization. ZSF 2l 5xE=30x @
(ii) Define Quadratic equation. Lo lemagoy G
(iii) Evaluate wl+wt.5 w+wh-5  deed (i
(iv) If a,f are the roots of the equation unJauﬁ 4 -5x+6=0 =il a, B S (iv)
4x% — 5x + 6 = 0, then find the value of —+ - LApedf e l;
a Ta B
(v) Define Synthetic Division. EEE
(vi) Fmd the Discriminant of the given equation: A Y ¢ Pl G e tlodns (i)
2 -Tx+1=0 ?'\D“ 2 -Tx+1=0
{vii) Find *x’ in the following proportion: & () G o X’ Lrtditn (il
Ix-2:4::2x+3:7 f’?'x\ﬂ\
228 3x—-2:4::2x+3:7
,owes I/I,:'f A —
(vii) If w ac—I; and w =2 when v = 3, find w. i’E:“;—J P Winv =32 W=2 W “vl A i
v AN
(ix) Define proportion. wef‘?’” EwFl o (x)
:.\L < :/ “ .
3. Attemptanysixparts. . £ 12=2x6 i Felzlimga i3 )y
(i) Define rational fraction. ~ _(f) AP AP IO
A
(ii ., 1 Gi
) Resolve the fraction xxz _??H into proper fraction. LIRSS x—:"ff“i e
(i) fx={2,4,6,...,20}andy={4,8,12,...,24) #x={2,4,6,..... ,20 30 Gii)
then findx -y
S x—yiny=1{4,8,12,...,24}
{iv) Define binary relation. o Awde v
(v) IfL={a, b, c}, M= {3, 4}, then find in M={3,4} » L={a,b,c}/i O
LxMand Mx L.
e MxLaLxM
O enpvctor A BoBNA B={2,4,6,8) «A={1,2,3,4,56}/1 D
en prove that = ANB=BNAS &=t n
¢vii) The marks of seven students in Mathematics are as AL LS U bt (vid)
follows : ’
Student
Student 1123145167 No. o i i Rl e
No. Marks 49
Marks | 45|60 | 74 |58 | 65|63 49| + .,fs‘ﬁgﬁﬂﬁ&
Calculate Arithmetic Mean. : S e enbirgl
(Viii) Define Harmonic mean. - P BT A (i)
(ix) The salaries of five teachers (in rupees) are as follows: w3t (LD F SoiigL ()

11500, 12400, 15000, 14500, 14800
Find Range.

11500, 12400, 15000, 14500, 14800

A O



#
L]

4. Attempt any six parts. 12=2x6 i fewrlingedi Aty

(i) Define angle of elevation. EAET 1Y I R ©)
() Convert %r to degrees. Ede Lol %” Gi)
(iii) Findr, when £=52cm and @ =45° O=45° . £=52 ¢ G r  (id)
(iv) Define projection of a point. LSSl
(v) Define a radial segment. NS 91T (TR )
(vi) Define tangent of a circle. vl (i)
(vii) Define segment of a circle. ESST N (5 T 7))
(viii) Define circumangle. oy Sy Giii)
(ix) Define inscribed circle. E Lm0

SECTION-1I (5.2
3x8=24 YN Jrf-gsfevurlatrd e diss
NOTE: - Attempt any three questions but question No.9 is compulsory. ﬂ?\_?:“

5. (a) Solve éxm =" . 2 (ﬁf) “o 12 = Pyl 2 S (s
(b) Solve the si equations: @,\i}:f;‘\ ) &l S S Ukasts % ()
X +2y =22 a@> X +2y° =22
5x2 +y* =29 NS 52 +y2 =29
Gy
6. (a) Using theorem of componendo - dividendc@%e Ll SUres S S (N6
x+2y x+2z . 4yz-{\ OV i
value of + 1fx=—€qv_, ) _Ayz S it r+2y+x+22
; X2y ¥-is .(\-@f‘%» A y+z Ledd x-2y x-2z
(b) . . V9 9 O
Resolve into partial fractions: < :u]_’/.k"-' RLu sz =
il (x-1)x+2) (x—1)(x+2)} A
7.(a)If U={1,2,3,4,5,6,7,8,9, 10} U={1,2,3,4,5,6,7,8,9, 10};, (.7

A=1{1,3,5,7,9}, B={2,3,5,7) then verify that

(ANBY=A'UB A={1,3,5,7,9},B={2,3,5,7}

(ANBY=A'UB y/eti

(b) Calculate variance for the following data: N iy Lits (&)
10,8,9,7,5,12,8,6,8,2 110,8,9,7,5,12,8,6,8,2
8. (a) Sin@+Cos@  Cos’6 Sin@+Cos@  Cos’8 ()-8
Prove that = = gt T
== tan’d—-1  Sin@—-Cos0 tan’9-1  Sin6-Cos@ e
(b) Circumscribe a circle about an equilateral A AT s L1 B e tadin P e FABCAL YL ()
triangle ABC with each side of length 4cm. Saa il e '
9.  Prove that two chords of a circle which are -l m)‘b""r‘ftu widifia S paim et SE it 9
equidistant from the centre, are congruent. i
OR L
Prove that the opposite angles of any quadrilateral BL ol pr e b L g WSt

inscribed in a circle are supplementary.

MTN 10~ ¥ 30-2018(A)-54000 (MULTAN)



PAPER CODE 2018(A) | %0222 < ¥ \

| NUMBER: 3194 SSC PART-II (10® CLASS)

MATHEMATICS (SCIENCE GROUP) (/0 Fu
GROUP-II I /u..rd/(
TIME ALLOWED: 20 Minutes OBJECTIVE (1 220 =23
MAXIMUM MARKS: 15 15=4F

ekl ,!a_pjgf ;LJ';.?IJJWJW&.._.-Lr!.:—n:c:.gﬂuu'bié_.:a.luf.dlr A Qﬁ}m.gi&._.mmcam.—.-@m ¥ A;Ldlr ,-.-.._*.u’

L) ,—..:.ulr,;.e,;.glr._,r!.(appgﬁ’ AN Lam Sz pf p P W el i fmnr §e S LS S i ik

Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct; fill that bubble in

front of that question number. On bubble sheet, use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in

zero mark in that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be
awarded in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.1 Ay
(1)  The fourth proportional w of x:y:: viw is ew gLy viw (1)
(A) » ® W (©) xyv ™ X
v X vy

(2) A fraction in which the degree of numerator is less .. 3,/ eSS i S S D
than the degree of the denominator is called: o (= / -3

(A) Anequation =l (B)  An improper fraction /214
(C) AnIdentity =fV (D) A Proper fraction ~/_-=s
(3) A set with no element is called: e\ =«f-l-'lh’/:f-‘-cfcdf L e ()
(A) Infinite set ertsZ  (B) Emptyset exde  (C) Singg_c:ﬁe’ sef er(f (D) Superset &xg
(4) TheRange of R = {(1, 3), (2.2), 3,1), (4.4)} is: s RE ((1,3), (2.2), 3.1, @0} (@
MY :;.J:t Range 7
A) {1,2,4) B) {3,2,4) 3 A12,3,4) ®) {1,3,4)
(5) The spread or scatterness of observations in a data "~ PRI A2 g’ ()
set is called: NS~
(A) Average b (B) Dispersion 45 w’&,‘\.@j Central tendency w#.57, (D) Median sb-s
(6) ., The union of two non-collinear rays, whi s -q.rlhf oL S P LR UIEBA s (6)
have common end point is called: (F-2 7
(A) Anangle . (B) A degrep s/f3 (C) A minute o> (D) A radian o4
(7) The symbol for a triangle {gﬁ&féﬁoteﬂ by: :q..:/mf LS efa (D
(A) < B) O () L ) A
(8) A chord passing through a centre of a circle is called: :q..rmf i Sef Ll (8)

(A) Secant oA BT (B) Circumference L (C) Diameter & (D) Radius 1
(9) A pair of chords of a circle subtending Lousn LB gZ s ei§7 ;J e (9)
two congruent central angles is:

(A) Congruent S (B) Incongruent Sz (¢) Over lapping /1> (D) Parallel J##
(10) Angle inscribed in a semi-circle is: ekt fesnid  (10)
(A) = (B) 7 © = (D) =
4 3 2 6
(11) tangent/tangents can be drawn from a wé&g’f{—ﬁ??ﬁfvc-ﬁ—&?ﬁﬁﬂé-ﬂ: (1)
point outside the circle. )
(A)One Ji (B) Four J (C) Three & (R) Two »
(12) An equation of the type 3"+ 3** +6=0 isa/an Lield 343 +6=0 cule (12
(A) Exponential equation ehlodiad (B) Radical equation =hl-J.i
(C) Reciprocal equation =lssy/5 (D) Quadratic equation =tslsGu
(13) Two square roots of unity are: a8 el e (13)
(A) 1,-1 ® 1, © 1,-w ® o,
(14) If @,p are the roots of x? —x — 1 = 0 then product ?umfu[. X-x-1=0ci a,f A a8
of the roots 2a and 2 3 is: e tre NN 20 2a
(A) -2 (B) 2 € 4 (D) -4
(15) In Continued Proportion a:b = b:c, ac = b’, b is said JLoac=bl vatb=bc ..,/I:TJ’V (15)
to be proportional between a and ¢: -t b usLlcna

(A) Third 14 (B) Fourth 3 (€) Means b (D) Second 1,1



MATHEMATICS (SCIENCE GROUP)
GROUP-II
TIME ALLOWED: 2.10 Hours

MAXIMUM MARKS: 60
NOTE: - Write same question number and its part
number on answer book, as given in the question paper.

SUBJECTIVE _¢i.»

(/0 Py

'/ﬂwtrcf
2'2.10 =233

60=/F

bRyl S2 gl sz A v S Wiz

SECTION-1 s .#

2. Attempt any six parts. 12=2x6 i Fevwrlimgadi 2y
@ Write the equation in standard form. —+L= . +-—l—-=3 -JJJ SL G il S
x+4 x-4 x+4 x-4
(i) Define quadratic equation. ...Utj T T ST 1))
(iii) Dizscuss the nature of the roots of the equation CHbx—1=0 _yfes gljld’u’,‘, Liadite Gl
X +6x—-1=0 )
(iv) Evaluate (1-o+ a?f (1 - o+0*)° /S )
(v) If a, p are the roots of the equation Jun Sl 4t ~5x+6=0=bis B, @ S W
1.1 1
4x* - 5x + 6 = 0 then find the value of —+— S o3 1.1
a B L/epnedd a f
(vi) Find the discriminant of the given quadratic 2243y 1=0 /P40 etloGondns D)

equation 22 +3x-1=0
(vii) Find ‘a’ if the ratios a + 3 : 7+ a and 4:5 are equal.

LA Iystrds 4.5 siat 3:7+a =/ Gid

(i) Define inverse vaiaion. | o2 SR Giid
(lx) A& _‘_2_ and A =2 whenr=23 find ‘T’ -ﬂ'ﬁﬁw‘ff’h‘ ‘I',H?.-r: 3 _-_,A=2 A e l! (ix)
r f?\'\\\\_:) </ r
when A =72 o -"1(:9\-')
3. Attempt any six parts. 1%33-;@;?3 _é'.:f_*;‘,lﬁﬁli?.'hfa.é.{-:iﬁ;dlf
(i) Define fraction. f"\tj""r/ .g.‘.'a YA O
A ANS
(ii) . —— P af3X+3 G
R to partial fr AL i W
esolve into partial fraction @) 7:2) v LS -1 (x+2)

(i) If X={ab,c}, Y= {;i{g?{mm find XX Y
(iv) Deﬁne Binary Relation.

o) If X=1{1,3,57,....19},
Y=1{0,2,4,6,....,20} then find XU Y

(vi) Findaandbif(a—-4,b-2)=(2,1)
(vii) Define Mode.
(viii) Find Arithmetic mean.
(ix) Write the formula to find mode for grouped data.

4, Attempt any six parts. 12=2x6

X= {1,

W/ XxY inX={ab,c}, Y={4, e}/ G

o dkde ()
19}, Y=1{0,2,4,6,....,20/i W
L+ XUYin
(a—4,b-2)=Q2,1) i/ baa ()
S e Gii)
.‘;‘g‘va.frﬁﬁt;ij’ (E:;
EFevrlmga Aty

.....

Iy A

(i) Define quadrantal angle. . . Ny Aloud,
(ii) Find £ when 6=180°,r=4.9cm 9=180°, r=49cm Soagiep il GiD
(iv) Define right angle. SSw i ts )

(v) Define chord of a circle. NS N4V O
(vi) Find half the Perimeter of a circle with M asbiinisin 1=3.1416,(radius) r =20cm S G

7=3.1416,(radius) r =20cm )
(vii) Define sector of a circle. LI/ J/’-G Lozt (vid)
viii) What is meant by incentre of a triangle? el e pir® {..:‘f-..{l (viii)
(ix) Define circumcircle. T PG ()

(_ilJﬂ)



SECTION-1II s >

3x8=24

.{_d}1}9ﬁ;dlfcfg..g£{;:.l..l££ .:.flllfuf:..é:(_daf

NOTE: - Attempt any three questions but question No.9 is compulsory.

5.(a) Solve the equation x*—2x—195=0
By completing square method.

(b) Prove that
CHy=(x+y)x+ oy) X+ o)

6. (a) Using componendo — dividendo theorem,
(x+3)’-(x-5)* _4
(x+3)2+(x-5)? 5

solve the equation:

(b) 9

Resolve into partial fractions T
(x=1)(x+2)

7.(a) If U={1,2,3,4,5,6,7,8,9, 10}
A={1,3,5,7,9},B={2,4, 5,7} verify De-
Morgan’s law (4N B)=A4'"UB’

S S 2 K- 2% - 195 = 0l ()5

X' +y =(x+y)(X+ay) (X + @°y) S L=t (L)

uirhadﬁ'ld:J;k‘FJ-ﬂ-b‘ (-6
ErS (x+3) —(x- 5)

(x+3)* +(x-5)* 5
9 477 D3 (&)
(x=1)(x+2)? FS Loz

\\.

'|

o

US)\{ 2.3,4,5,6,7,8,9,108 Ji (.7
Ju;wﬁg;:ym {1,3,5,7,9},B={2,4,5,7}
o L\J (ANBY=A'UB' -3+

- ’\\\_(_)I’-

N
r \\\/’

(b) The marks of six students in Mathematics are \L

épb'_u A1 e L5 Ao S S e LS LU g (L)

as follows. Determine Standard deviatiod, <}

Stadents [ 112 T3 [ 4 [ 5606 AP | 2|3 14]13]6
No. RN A, 160 170 [ 30 ] 90 | 80 | 42
Marks | 60 [ 70 | 30 | 9011’80 | 42
obtained
8- @) brove that 115in0 _ 1=Sind _, oo 1+8in@ l—Sin6=4m9&cgfq;p, ()-8
1-Sin®  1+Sind 1-Sin@  1+8Sin6 '

(b)Y Draw two circles with Radii 3.5 cm and 2 em.
If their centres are 6 cm apart, then draw two
transverse common tangents,

Prove that two chords of a circle which are
equidistant from the centre, are congruent.
OR

Prove that the opposite angles of any quadrilateral

inscribed in a circle are supplementary.

MLTN=- (9~

S ¥ 2L N 20 3.5 JiJ.fLUauCg i (&)
-ﬁ(JUJ;}J:C"u;Hr"E

BnfEfuntiigioc S piiml oS et 9

L
¢ /"‘..'Ii" fé.JlJ.J;B:'Lur gd:}uu’;}uuj J #'.:.:I.‘
L

S R 32-2018(A)-35000 (MULTAN)



